
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(iQjojh eSx”khu tk¡p ijh{kk)
fnukad& 09-02-2020

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	^ukxfjdrk la'kksèku vfèkfu;e] 2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl vfèkfu;e ds ekè;e ls ukxfjdrk vfèkfu;e] 

1955 ds izkoèkkuksa dks la'kksfèkr fd;k x;k gSA

	 2.	 blds rgr ns'kh;dj.k ds ekè;e ls ukxfjdrk 

iznku djus dh le;kofèk dks 11 o"kZ ls ?kVkdj 

5 o"kZ dj fn;k x;k gSA

	 3.	 bl vfèkfu;e ds ekè;e ls ckaXykns'k] ikfdLrku 

vkSj viQxkfuLrku ls 31 fnlacj] 2014 rd 

Hkkjr esa vk, fganw] fl[k] ckS¼] tSu] ikjlh rFkk 

bZlkbZ leqnk;ksa dks Hkkjr dh ukxfjdrk iznku dh 

tk,xhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 2.	^dkWi&25* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bldk vk;kstu fnlacj 2019 esa fpyh dh 

jktèkkuh lsafV;kxks esa fd;k x;kA

	 2.	 dkWi&25 dk eq[; mn~ns'; o"kZ 2020 ls ykxw 
gksus okys isfjl le>kSrs dh fu;e&iqfLrdk ds 

vulqy>s eqn~nksa ij ppkZ djuk FkkA

	 3.	 bl lEesyu ds nkSjku bVyh o eSfDldks us tyok;q 

f'k{kk dks vius Ldwy ikB~;Øe dk vfuok;Z 

fgLlk cukus dh ?kks"k.kk dhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 	 (d)	 1, 2 vkSj 3
	 3.	^dsanz'kkflr izns'kksa dk foy;* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 3 fnlacj] 2019 dks laln }kjk ^nknjk ,oa uxj 

gosyh* vkSj ^neu o nho* (dsanz'kkflr izns'kksa 

dk foy;) foèks;d] 2019 ikfjr dj fn;k x;kA

	 2.	 blds }kjk ^nknjk ,oa uxj gosyh* vkSj ^neu o 

nho* dk vkil esa foy; djds ,d u;k 

dsanz'kkflr izns'k cuk;k x;k gSA

	 3.	 nksuksa dsanz'kkflr izns'k xqtjkr ds ikl if'peh 

rV ij fLFkr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 1. 	Consider the following statements in the context 
of 'Citizenship Amendment Act, 2019':

	 1.	 The provisions of the Citizenship Act, 1955 
have been amended through this Act.

	 2.	 The period of granting citizenship through 
naturalisation has been reduced from 11 
years to 5 years, under this Act.

	 3.	 Through this Act Indian citizenship will 
be granted to Hindu, Sikh, Buddhist, Jain, 
Parsi and Christian communities who came 
to India from Bangladesh, Pakistan and 
Afghanistan till 31 December, 2014.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 2. 	Consider the following statements in the context 
of 'COP-25':

	 1.	 It was organized in the Santiago, the capital 
of Chile, in December 2019.

	 2.	 The main purpose of COP-25 was to 
discuss the unresolved issues of the Paris 
Agreement manual coming into force from 
the year 2020.

	 3.	 During this conference Italy and Mexico 
announced to make climate education an 
essential part of their school curriculum.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 3. 	Consider the following statements in the context 
of 'Merger of Union Territories':

	 1.	 The 'Dadra and Nagar Haveli' and 'Daman 
and Diu' (Merger of Union Territories) Bill, 
2019 was passed through Parliament, on 
December 3, 2019.

	 2.	 A new Union Territory has been created 
by merging 'Dadra and Nagar Haveli' and 
'Daman and Diu' through this.

	 3.	 Both union territories are located on the 
west coast near Gujarat.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 4.	Hkkjrh; fuokZpu vk;ksx us gky gh esa gfj;k.kk dh 
tuuk;d turk ikVhZ dks jkT;Lrjh; ny dk ntkZ iznku 
fd;kA jkT;Lrjh; jktuhfrd ny ds :i esa ekU;rk ds 
fy;s fuEufyf[kr esa ls dkSu&lh 'krs± gSa] ftuesa ls fdlh 
,d dks iwjk djuk vfuok;Z gS\

	 1.	 ny us jkT; ds foèkkulHkk pquko esa dqy lhVksa 
dk 3 izfr'kr ;k 3 lhVsa] tks Hkh vfèkd gks] 
izkIr dh gksaA

	 2.	 yksdlHkk ds vke pquko esa ny us jkT; ds fy;s 
fuèkkZfjr izR;sd 25 yksdlHkk lhVksa esa 1 lhV ij 
thr ntZ dh gksA

	 3.	 jkT; esa yksdlHkk ;k foèkkulHkk ds fy;s gq, 
pqukoksa esa ny us dqy oSèk erksa ds 8 izfr'kr er 
izkIr fd;s gksaA

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 1 vkSj 3
	 5.	^bZV jkbV LVs'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 eqacbZ lsaVªy jsyos LVs'ku dks Hkkjrh; [kk| lqj{kk 
,oa ekud izkfèkdj.k }kjk ns'k ds igys ̂ bZV jkbV 
LVs'ku* ds :i esa izekf.kr fd;k x;k gSA

	 2.	 ^bZV jkbV LVs'ku* vfHk;ku dk mn~ns'; LoLFk 
vkgkj eqgS;k djkrs gq, yksxksa dk vPNk LokLF; 
lqfuf'pr djuk gSA

	 3.	 ;g vfHk;ku Hkkjrh; [kk| lqj{kk ,oa ekud 
izkfèkdj.k }kjk o"kZ 2018 esa pyk, x, ̂ bZV jkbV 
bafM;k* vfHk;ku dk ,d fgLlk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	 6.	^VSucks dyk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g tkiku dh ,d dyk gS] ftlesa yksx èkku 
ds [ksr esa fp=k.k djus ds fy;s fofHkUu izdkj 
ds jaxksa vkSj fdLeksa dh èkku cksrs gSaA

	 2.	 gky gh esa dsjy ds ,d fdlku us izfl¼ xq#ok;qj 
eafnj ds gkFkh xq#ok;qj dslou dk fp=k.k VSucks 
dyk ds :i esa fd;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 4. 	The Election Commission of India recently 
conferred state level party status to the Jannayak 
Janata Party of Haryana. Which of the following 
are the conditions for the recognition as a state-
level political party, one of which is mandatory to 
fulfill?

	 1.	 The party has secured 3 percent or 3 seats 
of the total seats in the state assembly 
elections, whichever is higher.

	 2.	 The party has won 1 seat in every 25 Lok 
Sabha seats fixed for the state in the general 
election of Lok Sabha.

	 3.	 The party should have got 8 percent of the 
total valid votes in the elections held for the 
Lok Sabha or Vidhan Sabha in the state.

		  Select the correct answer using the code given 
below:

	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only	 (d)	 1 and 3 only

	 5.	  Consider the following statements in the context 
of 'Eat Right Station':

	 1.	 Mumbai Central Railway Station has been 
certified as the first 'Eat Right Station' in the 
country by the Food Safety and Standards 
Authority of India.

	 2.	 The 'Eat Right Station' campaign aims to 
ensure good health of people by providing 
healthy food.

	 3.	 This campaign is a part of the 'Eat Right 
India' campaign launched by the Food 
Safety and Standards Authority of India in 
the year 2018.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 6. 	Consider the following statements in the context 
of 'Tanbo art':

	 1.	 It is an art of Japan, in which people sow 
paddy of various colors and varieties to 
depict in the paddy field.

	 2.	 Recently a farmer from Kerala painted 
Guruvayur Kesavan, the elephant of the 
famous Guruvayur temple, as Tanbo art.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 7.	^jkT;lHkk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 Hkkjrh; lafoèkku dk vuqPNsn&80 jkT;lHkk ds 
xBu dk izkoèkku djrk gSA

	 2.	 jkT;lHkk ds lnL;ksa dh vfèkdre la[;k 245 
gks ldrh gSA

	 3.	 jkT;lHkk ds lnL;ksa dk dk;Zdky 6 o"kZ gksrk gS 
,oa izR;sd 2 o"kZ ckn ,d&frgkbZ lnL; lsokfuòÙk 
gks tkrs gSaA

	 4.	 orZeku esa mÙkj izns'k ls jkT;lHkk lnL;ksa dh 
la[;k lokZfèkd gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 4	 (d)	 dsoy 1 vkSj 3
	 8.	^jk"Vªh; xaxk ifj"kn* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\
	 1.	 bldh LFkkiuk o"kZ 2016 esa gqbZ FkhA

	 2.	 blus jk"Vªh; unh xaxk csflu izkfèkdj.k dks 
izfrLFkkfir fd;k gSA

	 3.	 gky gh esa izèkkuea=kh dh vè;{krk esa dkuiqj esa 
laiUu gqbZ jk"Vªh; xaxk ifj"kn dh cSBd bldh 
igyh cSBd gSA

	 	dwV%

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 3 	 (d)	 dsoy 1 vkSj 3
	 9.	^fu;e&12* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 Hkkjr ljdkj (dk;Zdj.k) fu;ekoyh] 1961 dk 

fu;e&12] izèkkuea=kh dks vius foosd ds vkèkkj 
ij dSfcusV dh ea”kwjh ds fcuk lkekU; fu;eksa ls 
HkVdko dh vuqefr nsrk gSA

	 2.	 lkekU;r% bldk iz;ksx ̂ vlkèkkj.k rkRdkfyd ;k 
vizR;kf'kr vkikr fLFkfr* esa fd;k tkrk gSA

	 3.	 izèkkuea=kh us fu;e 12 ds rgr iznÙk 'kfDr dk 
iz;ksx djrs gq, 23 uoacj] 2019 dks egkjk"Vª 
ls jk"Vªifr 'kklu gVk fn;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	10.	^15ok¡ foÙk vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\
	 1.	 izèkkuea=kh dh vè;{krk esa dsanzh; eaf=keaMy us 

15osa foÙk vk;ksx ds dk;Zdky dks ,d o"kZ rd 
ds fy;s c<+k fn;k gSA

	 7. 	Consider the following statements in the context 
of 'Rajya Sabha':

	 1.	 Article- 80 of the Constitution of India 
provides for the constitution of Rajya 
Sabha.

	 2.	 The maximum number of the members of 
Rajya Sabha can be 245.

	 3.	 The tenure of the member of Rajya Sabha is 
6 years and after every 2 years one-third of 
the members get retire.

	 4.	 Currently, Uttar Pradesh has the highest 
number of Rajya Sabha members.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 4 only	 (d)	 1 and 3 only

	 8. 	Which of the following statement(s) is/are correct 
in the context of 'National Ganga Council'?

	 1.	 It was established in the year 2016.
	 2.	 It has replaced the National River Ganga 

Basin Authority.
	 3.	 The meeting of the National Ganga 

Council held recently in Kanpur under the 
chairmanship of the Prime Minister is its 
first meeting.

		  Code:
	 (a)	 1, 2 and 3	 (b)	 2 only
	 (c)	 3 only	 (d)	 1 and 3 only

	 9. 	Consider the following statements in the context 
of 'Rule-12':

	 1.	 Rule-12 of the Government of India 
(Working) Rules, 1961, allows the Prime 
Minister to deviate from the general rules 
at his discretion without the approval of the 
Cabinet.

	 2.	 It is commonly used in 'extraordinary urgent 
or unexpected emergencies'.

	 3.	 The Prime Minister had removed President's 
rule from Maharashtra on 23 November, 2019 
by exercising the power conferred under 
Rule 12.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 10. 	Which of the following statement(s) is/are correct 
in the context of '15th Finance Commission'?

	 1.	 The Union Cabinet chaired by the Prime 
Minister has extended the term of the 15th 
Finance Commission by one year.
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	 2.	 lafoèkku ds vuqPNsn&280 ds rgr jk"Vªifr foÙk 
vk;ksx dk xBu djsxkA

	 3.	 foÙk vk;ksx dh vofèk 5 o"kZ ls igys ;k jk"Vªifr 
dh bPNkuqlkj blls iwoZ Hkh lekIr dh tk ldrh 
gSA

	 	dwV%

	 (a)	 dsoy 3	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2
	11.	uoacj 2019 esa Hkkjr ds igys lcls cM+s tSo izkS|ksfxdh 

lEesyu ̂ Xykscy ck;ks&bafM;k lfeV&2019* dk vk;kstu 
fuEufyf[kr esa ls fdl 'kgj esa fd;k x;k\

	 (a)	 vkxjk	 (b)	 ubZ fnYyh

	 (c)	 t;iqj	 (d)	 eqacbZ
	12.	^vVkidk i{kh vHk;kj.;* fuEufyf[kr esa ls fdl jkT; 

esa fLFkr gS\

	 (a)	 jktLFkku	 (b)	 gfj;k.kk

	 (c)	 vkaèkz izns'k	 (d)	 rfeyukMq
	13.	^IykWfxax ju* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ,d izdkj dh varjkZ"Vªh; fiQVusl izo`fÙk gS] 
ftlesa Vgyuk vkSj dpjk mBkuk 'kkfey gSaA

	 2.	 izFke fiQV bafM;k IykWfxax ju ds fy;s fjiq neu 
csoyh dks Hkkjr dk IykWfxax nwr ?kksf"kr fd;k 
x;kA

	 3.	 izFke fiQV bafM;k IykWfxax ju dh 'kq#vkr 21 
twu] 2018 dks gqbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	14.	^jk"Vªh; czkWMcSaM vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g vfHk;ku jk"Vªh; fMftVy lapkj uhfr] 2018 
dk fgLlk gSA

	 2.	 jk"Vªh; czkWMcSaM vfHk;ku dk fo”ku fMftVy lapkj 
<k¡ps dk Rofjr fodkl] fMftVy varjky dh 
lekfIr] fMftVy l'kDrhdj.k rFkk lekos'k ij 
vkèkkfjr gSA

	 3.	 bldk y{; xzkeh.k o lqnwj {ks=kksa lesr iwjs ns'k 
esa o"kZ 2022 rd czkWMcSaM lsok dks miyCèk 
djkuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 2.	 The President shall constitute the Finance 
Commission under Article-280 of the 
Constitution.

	 3.	 The term of the Finance Commission can be 
terminated before 5 years or even earlier as 
per the pleasure of the President.

		  Code:
	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 2 only

	 11. 	The first largest biotechnology conference of India 
'Global Bio-India Summit-2019' was held in which 
of the following cities in November 2019?

	 (a)	 Agra	 (b)	 New Delhi
	 (c)	 Jaipur	 (d)	 Mumbai

	 12. 	‘Atapaka Bird Sanctuary’ is located in which of 
the following states?

	 (a)	 Rajasthan	 (b)	 Haryana
	 (c)	 Andhra Pradesh	 (d)	 Tamil Nadu

	 13. 	Consider the following statements in the context 
of  'plogging run':

	 1.	 It is a type of international fitness trend, 
which includes walking and picking up 
trash.

	 2.	 Ripu Daman Bewali was declared plogging 
ambassador of India for the first Fit India 
plogging run.

	 3.	 The first Fit India plogging run started on 
21st June, 2018.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 14. 	Consider the following statements in the context 
of 'National Broadband Campaign':

	 1.	 This campaign is the part of National Digital 
Communications Policy, 2018.

	 2.	 The vision of the National Broadband 
Campaign is based on the rapid development 
of digital communication infrastructure, 
the elimination of digital gaps, digital 
empowerment and inclusion.

	 3.	 Its objective is to provide broadband 
service by the year 2022 across the country 
including rural and remote areas.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	15.	^oSf'od izoklu fjiksVZ] 2020* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ ds vuqlkj] oSf'od Lrj ij izokfl;ksa 
dh la[;k ds ekeys esa Hkkjr 'kh"kZ LFkku ij gSA

	 2.	 fo'o ds fofHkUu ns'kksa esa Hkkjrh; izokfl;ksa dh 
vkcknh yxHkx 1.75 djksM+ gSA

	 3.	 orZeku esa iwjs fo'o esa izokfl;ksa dh la[;k yxHkx 
27 djksM+ gS] tks fd oSf'od vkcknh dk 3.5% 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	16.	^fo'o e`nk fnol* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g izfro"kZ 5 fnlacj dks euk;k tkrk gSA

	 2.	 o"kZ 2019 ds fy;s bldh Fkhe& ^e`nk dVko 
jksdsa] gekjk Hkfo"; lqjf{kr djsa* gSA

	 3.	 la;qDr jk"Vª ds [kk| vkSj Ñf"k laxBu us twu 
2013 esa fo'o e`nk fnol dk leFkZu fd;k Fkk 
vkSj la;qDr jk"Vª egklHkk ds 68osa lEesyu esa 
bls vkfèkdkfjd :i ls Lohdkj fd;k x;kA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	17.	^ÚkWxiQksu* fMokbl ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g nqfu;k dh igyh ,slh lkSj&lapkfyr fjeksV 
losZ{k.k fMokbl gS] tks eas<dksa dh vkok”k dks 
igpku ldrh gSA

	 2.	 bls vkWLVªsfy;k ds U;w lkmFk osYl fo'ofo|ky; 
vkSj dSucjk fo'ofo|ky; dh ,d Vhe }kjk 
fodflr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	18.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

		  vuqPNsn		  izkoèkku

	 1.	 vuqPNsn&23	 %	 ekuo ds nqO;kZikj vkSj cykr~ 
Je dk fu"ksèk

	 2.	 vuqPNsn&24	 %	 dkj[kkuksa vkfn esa cPpksa ds 
fu;kstu dk izfrcaèk

	 3.	 vuqPNsn&27	 %	 èkkfeZd dk;ks± ds izcaèk dh 
Lora=krk

	 15. 	Consider the following statements in the context 
of 'Global Migration Report, 2020':

	 1.	 According to this report, India ranks at 
the top in terms of the number of migrants 
globally.

	 2.	 Indian migrants have a population of about 
1.75 crores in various countries of the 
world.

	 3.	 Currently, the number of migrants around 
the world is around 27 crores, which is 
3.5% of the global population.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 16. 	Which of the following statement(s) is/are correct 
in the context of 'World Soil Day'?

	 1.	 It is celebrated on 5 December every year.
	 2.	 Its theme for the year 2019 is 'Stop soil 

erosion, save our future'.
	 3.	 The Food and Agriculture Organization of 

the United Nations supported World Soil 
Day in June 2013 and officially accepted 
it at the 68th Conference of the United 
Nations General Assembly.

		  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 17. 	Consider the following statements in the context 
of 'Frogphone' device:

	 1.	 It is the world's first such solar-powered 
remote surveying device that can detect the 
sound of frogs.

	 2.	 It has been developed by a team from the 
University of New South Wales, Australia 
and the University of Canberra.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 18. 	Consider the following pairs: 

			   Article  	 Provision
	 1.	 Article-23	 :	 Prohibition of human 

trafficking and forced 
labour

	 2.	 Article-24	 :	 Prohibition of 
employment of children 
in factories etc.

	 3.	 Article-27	 :	 Freedom to manage 
religious affairs
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	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	19.	^uhfr funs'kd rÙo* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\
	 1.	 bls ykxw djus ds fy;s leqfpr dkuwu dh 

vko';drk gksrh gSA

	 2.	 bls ykxw djus dh f”kEesnkjh jkT; dh gSA

	 3.	 budh izÑfr udkjkRed gS] D;ksafd ;g jkT; dh 
'kfDr lhfer djrk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	20.	^izksMD'ku xSi fjiksVZ] 2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g fjiksVZ isfjl le>kSrs ds y{;ksa rFkk ns'kksa ds 

dks;yk] rsy ,oa xSl ds fu;ksftr mRiknu ds 
eè; varj ds vkdyu lacaèkh igyh fjiksVZ gSA

	 2.	 1.5ºC ;k 2ºC rd Xykscy okfe±x dks lhfer 
j[kus gsrq oSf'od mRiknu Lrj ,oa ns'kksa ds 
fu;ksftr thok'e b±èku mRiknu ds eè; O;kIr 
folaxfr gh ^izksMD'ku xSi* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	21.	^tyok;q ifjorZu izn'kZu lwpdkad] 2020* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl lwpdkad esa Hkkjr igyh ckj 'kh"kZ 10 izn'kZd 

jk"Vªksa esa 'kkfey gqvk gSA

	 2.	 bl okf"kZd lwpdkad dks teZuokWp] U;w&DykbesV 
baLVhV~;wV vkSj DykbesV ,D'ku usVodZ }kjk la;qDr 
:i ls izdkf'kr fd;k tkrk gSA

	 3.	 lwpdkad esa ftu 61 jk"Vªksa dks jsfVax iznku dh 
xbZ gS] muesa ls ,d Hkh ¶vfr mPp¸ jsfVax ds 
'kh"kZ rhu LFkkuksa dks izkIr ugha dj ldk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	22.	^iksr iqupZØ.k vfèkfu;e] 2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g vfèkfu;e Hkkjr esa iathÑr fo|eku iksr ,oa 

fdlh iÙku] iksr izkax.k ;k {ks=kh; ty esa izos'k 
djus okys iksr] ;q¼ iksr ;k vU; iksr ftldk 
mi;ksx xSj&okf.kfT;d lsokvksa ds fy;s fd;k x;k 
gS] ij ykxw gksxkA

		  Which of the above pair(s) is/are not correctly 
matched?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 19. 	Which of the following statement(s) is/are correct 
in the context of 'Directive Principles of State 
Policy'?

	 1.	 Appropriate legislation is required to 
implement it.

	 2.	 It is the responsibility of the state to 
implement it.

	 3.	 They are negative in nature, as it limits the 
power of the state.

		  Code:
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 20. 	Consider the following statements in the context 
of  'Production Gap Report, 2019':

	 1.	 It is the first assessment related report of the 
difference between the goals of the Paris 
Agreement and the planned production of 
coal, oil and gas of the countries.

	 2.	 The production gap is the discrepancy 
between the global production level and the 
planned fossil fuel production of countries 
to limit global warming to 1.5ºC or 2ºC.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 21. 	Consider the following statements in the context 
of 'Climate Change Performance Index, 2020':

	 1.	 India has been included in the top 10 
performing nations in this index for the first 
time.

	 2.	 This annual index is published jointly by 
Germanwatch, New-Climate Institute and 
Climate Action Network.

	 3.	 Not a single country has attained the top 
three positions of "very high" rating among 
the 61 nations that have been rated in the 
index.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 22. 	Consider the following statements in the context 
of 'The Recycling of ships Act, 2019':

	 1.	 This Act shall apply to existing ships 
registered in India and vessels entering any 
port, shipyard or territorial waters, warships 
or other vessels which have been used for 
non-commercial services.
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	 2.	 bl vfèkfu;e ds vuqlkj] iksr iqupZØ.k dh 
izfØ;k gkWUxdkWUx varjkZ"Vªh; vfHkle;] 2009 
dh O;oLFkkvksa ds rgr i;kZoj.k vuqdwy gksxhA

	 3.	 oSf'od Lrj ij iksr iqupZØ.k m|ksx dk 30% 
ck”kkj Hkkjr esa gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 2
	23.	^mRltZu varjky fjiksVZ] 2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 uoacj 2019 esa la;qDr jk"Vª i;kZoj.k dk;ZØe us 

mRltZu varjky fjiksVZ ds nlosa laLdj.k dks 
izdkf'kr fd;kA

	 2.	 fjiksVZ ds vuqlkj] fiNys ,d n'kd esa oSf'od 
xzhugkml xSlksa ds mRltZu esa izfro"kZ 1.5 izfr'kr 
dh nj ls o`f¼ gqbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	24.	^teZuokWp* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&lk@

ls lgh gS@gSa\
	 1.	 ;g ,d Lora=k fodkl ,oa i;kZoj.kh; xSj&ljdkjh 

laxBu gS] tks teZuh ds ckWu esa fLFkr gSA

	 2.	 bldh LFkkiuk o"kZ 1991 esa oSf'od mÙkj&nf{k.k 
lacaèkksa ,oa i;kZoj.k laj{k.k ls lacafèkr lkoZtfud 
uhfr;ksa ij izHkko Mkyus ds mn~ns'; ls dh xbZ 
FkhA

	 3.	 ;g fu"i{k O;kikj lacaèkksa] mÙkjnk;h foÙkh; ck”kkjksa] 
ekuo vfèkdkjksa ds ikyu ,oa tksf[keiw.kZ tyok;q 
ifjorZu dks jksdus ds lacaèk esa iSjoh djrk gSA

	 	dwV%

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 2 vkSj 3
	25.	Hkkjrh; lafoèkku ds fuEufyf[kr izkoèkkuksa ij fopkj 

dhft;s%
	 1.	 ijekfèkdkj ys[k

	 2.	 ewy dÙkZO;

	 3.	 U;kf;d iqufoZyksdu

	 4.	 fofèk }kjk LFkkfir izfØ;k

	 5.	 ,dy ukxfjdrk

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls izkoèkku fczVsu ds 
lafoèkku ls fy;k x;k gS@fy;s x, gSa\

	 (a)	 dsoy 5	 (b)	 dsoy 1 vkSj 5
	 (c)	 dsoy 2, 3 vkSj 4 	 (d)	 dsoy 1, 4 vkSj 5

	 2.	 The process of ship recycling will be 
environment friendly under the provisions 
of the Hong Kong International Convention, 
2009, according to this Act.

	 3.	 30% of the ship recycling industry globally 
is situated in India.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 only

	 23.	  Consider the following statements in the context 
of 'Emission Gap Report, 2019':

	 1.	 The United Nations Environment Program 
published the tenth edition of the emission 
gap report in November 2019.

	 2.	 According to the report, global greenhouse 
gases emissions have increased at the rate of 
1.5 percent per year in the last decade.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 24. 	Which of the following statement(s) is/are correct 
in the context of 'Germanwatch'?

	 1.	 It is an independent development and 
environmental non-governmental 
organization located in Bonn, Germany.

	 2.	 It was established in the year 1991 with 
the aim to influence global North-South 
relations and public policies related to 
environmental protection.

	 3.	 It advocates for fair trade relations, 
responsible financial markets, compliance 
with human rights and preventing climate 
change risk.

		  Code:
	 (a)	 1, 2 and 3	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 25. 	Consider the following provisions of the Indian 
Constitution:

	 1.	 Prerogative Writ
	 2.	 Fundamental Duties
	 3.	 Judicial Review
	 4.	 Procedure Established by Law
	 5.	 Single Citizenship	

		  Which of the above provision(s) has/have been 
taken from the Constitution of United Kingdom?

	 (a)	 5 only	 (b)	 1 and 5 only
	 (c)	 2, 3 and 4 only	 (d)	 1, 4 and 5 only
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	26.	Hkkjr esa ^lekurk ds vfèkdkj* ds viokn ds :i esa 
fuEufyf[kr esa ls fdls@fdUgsa 'kkfey fd;k x;k gS\

	 1.	 fons'kh jktuf;dksa dks

	 2.	 vuqPNsn&361 ds rgr jk"Vªifr o jkT;iky dks

	 3.	 vuqPNsn&105 ds rgr laln rFkk vuqPNsn 194 
ds rgr foèkkueaMy dks

	 4.	 vuqPNsn&361(d) ds rgr izsl dks

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1, 2 vkSj 4

	 (c)	 dsoy 4 	 (d)	 1, 2, 3 vkSj 4
	27.	Hkkjrh; lafoèkku ds vuqPNsn&12 esa jkT; dh ifjHkk"kk 

nh xbZ gS] tks dsoy Hkkx&3 ds iz;kstu gsrq lanfHkZr gSA 
bl ifjHkk"kk ds vuqlkj ^jkT;* esa 'kkfey fudk; gS@gSa&

	 1.	 Hkkjr dh ljdkj ,oa laln

	 2.	 lHkh jkT;ksa dh ljdkjsa o foèkkueaMy

	 3.	 lHkh LFkkuh; izkfèkdkjh

	 	dwV%

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 dsoy 1 vkSj 2
	28.	^jkT;iky* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 jkT;iky jkT; ds egkfèkoDrk dks fu;qDr djrk 
gS vkSj mldk osru fuèkkZfjr djrk gSA

	 2.	 jkT;iky eq[;ea=kh ls jkT; ds iz'kklu ;k fdlh 
izLrkfor foèkku ds lacaèk esa tkudkjh ekax ldrk 
gSA

	 3.	 jkT;iky foèkkueaMy ds nksuksa lnuksa ds l=k dks 
vkgwr dj ldrk gS ,oa mldk l=kkolku dj 
ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 	 (d)	 1, 2 vkSj 3
	29.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jkT;lHkk dk fo?kVu djus dh 'kfDr Hkkjr ds 
jk"Vªifr dks nh xbZ gSA

	 2.	 fo?kVu l=kkolku ls vyx gksrk gSA l=kkolku 
lnu ds ,d l=k dks lekIr djrk gS] tcfd 
fo?kVu lnu dks gh lekIr dj nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 26. 	Which of the following has/have been included as 
an exception to the 'Right to equality' in India?

	 1.	 Foreign diplomats
	 2.	 The President and Governor under 

Article-361
	 3.	 Parliament under Article 105 and Legislature 

under Article 194
	 4.	 Press under Article-361 (A)

		  Code:
	 (a)	 1 and 2 only	 (b)	 1, 2 and 4 only
	 (c)	 4 only	 (d)	 1, 2, 3 and 4

	 27. 	Article-12 of the Constitution of India defines the 
state, which refers only for the purpose of Part-3. 
According to this definition, the body included in 
the state is /are-

	 1.	 Government and Parliament of India
	 2.	 Governments and Legislatures of all states
	 3.	 All local authorities

		  Code:
	 (a)	 1 only
	 (b)	 1, 2 and 3
	 (c)	 3 only
	 (d)	 1 and 2 only

	 28. 	Consider the following statements in the context 
of 'Governor':

	 1.	 The Governor appoints the Advocate 
General of the State and fixes his salary.

	 2.	 The Governor may seek information 
from the Chief Minister regarding the 
administration of the state or any proposed 
legislation.

	 3.	 The Governor may commence a session 
of both the Houses of the Legislature and 
prorogue it.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 29.	 Consider the following statements:
	 1	 The power to dissolve the Rajya Sabha has 

been conferred to the President of India.
	 2.	 Dissolution is different from prorogation. 

Prorogation ends a session of the House, 
while dissolution ends the House itself.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	30.	^lafoèkku la'kksèku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 la'kksèku dk izLrko laln ds nksuksa lnuksa esa ls 
fdlh esa Hkh izkjaHk fd;k tk ldrk gSA

	 2.	 lafoèkku la'kksèku foèks;d ds ekeys esa ^la;qDr 
cSBd* dk dksbZ izkoèkku ugha gSA

	 3.	 jk"Vªifr lafoèkku la'kksèku foèks;d dks vuqefr 
nsus ds fy;s ckè; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	31.	^;wfuolZy lfoZl vkWfCyxs'ku iQaM (;w-,l-vks-,iQ-)* 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g xzkeh.k vkSj nwjnjkt ds {ks=kksa esa yksxksa rd 

oguh; dherksa ij xSj&HksnHkkoiw.kZ] xq.koÙkkiw.kZ 
lwpuk vkSj lapkj izkS|ksfxdh lsokvksa dh igq¡p 
lqfuf'pr djrk gSA

	 2.	 bldk xBu o"kZ 2002 esa nwjlapkj foHkkx ds 
rgr fd;k x;k FkkA

	 3.	 bl iQaM ds fy;s lalnh; vuqeksnu dh vko';drk 
gksrh gS vkSj bls Hkkjrh; VsyhxzkiQ (la'kksèku) 
vfèkfu;e] 2003 ds rgr oSèkkfud leFkZu izkIr 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 3 	 (d)	 dsoy 2
	32.	^lkekftd lqj{kk lafgrk foèks;d] 2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl foèks;d esa deZpkjh Hkfo"; fufèk vfèkfu;e] 
1952_ ekr`Ro ykHk vfèkfu;e] 1961_ vlaxfBr 
Jfed lkekftd lqj{kk vfèkfu;e] 2008 lfgr 
ukS dkuwuksa dks lfEefyr fd;k x;k gSA

	 2.	 foèks;d ds varxZr ;g izkoèkku fd;k x;k gS 
fd deZpkjh vius ih,iQ ;ksxnku esa dVkSrh dj 
ldrs gSa] ftlls udn osru esa o`f¼ gksxhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	33.	Hkkjr ljdkj us gky gh esa osru lafgrk] 2019 ds 

fØ;kUo;u gsrq fu;eksa dk elkSnk rS;kj fd;k gSA bl 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g lafgrk fdlh Jfed dk U;wure thou&Lrj 
lqfuf'pr djus ds fy;s U;wure osru dh 
ladYiuk dks ykxw djrh gSA

	 2.	 bl lafgrk esa jkT;ksa }kjk deZpkfj;ksa dks fMftVy 
eksM ls osru Hkqxrku dh ifjdYiuk dh xbZ gSA

	 30.	 Consider the following statements in the context 
of 'Amendment of Constitution':

	 1.	 A proposal for amendment can be introduced 
in either of the both houses of Parliament.

	 2.	 There is no provision of 'joint sitting' in the 
case of the Constitutional Amendment Bill.

	 3.	 The President is bound to allow the 
Constitutional Amendment Bill.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 3 only

	 31.	 Consider the following statements in the context 
of 'Universal Service Obligation Fund (USOF)':

	 1.		 It ensures access to non-discriminatory, 
quality information and communication 
technology services at affordable prices to 
people in rural and remote areas.

	 2.	 It was constituted in the year 2002 under the 
Department of Telecommunications.

	 3.	 This fund requires parliamentary approval 
and has statutory support under the Indian 
Telegraph (Amendment) Act, 2003.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 2 only

	 32.	 Consider the following statements in the context 
of 'Social Security Code Bill, 2019':

	 1.	 The Bill contains nine Acts including the 
Employees Provident Fund Act, 1952; 
Maternity Benefit Act, 1961; and the 
Unorganized Workers Social Security Act, 
2008.

	 2.	 Under the Bill, a provision has been made 
that the employees can deduct their PF 
contribution, which will increase the wages.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 33.	 The Government of India has recently drafted rules 
for the implementation of the Pay Code, 2019. 
Consider the following statements in this context:

	 1.	 This Code enforces the concept of minimum 
wages to ensure the minimum standard of 
living of a worker.

	 2.	 The Code envisages payment of wages to 
the employees by the States in a digital 
mode.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	34.	Hkkjr ckW.M ,Dlpsat VªsMsM iQaM (bZ-Vh-,iQ-) ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ns'k dk rhljk dkWiksZjsV ckW.M bZ-Vh-,iQ- gksxkA

	 2.	 bls dsanzh; lkoZtfud {ks=k ds m|eksa vkSj miØeksa] 
dsanzh; lkoZtfud foÙkh; laLFkkuksa rFkk vU; 
ljdkjh laxBuksa ds fy;s iwath ds vfrfjDr lzksr 
ds rkSj ij yk;k x;k gSA

	 3.	 izkjaHk esa Hkkjr ckW.M bZ-Vh-,iQ- dks nks ifjiDork 
vofèk;ksa& 3 o"kZ vkSj 10 o"kZ ds fy;s tkjh 
fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	35.	^mM+ku 4.0* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g {ks=kh; dusfDVfoVh ;kstuk ^mM+ku* (mM+s ns'k 
dk vke ukxfjd) dk pkSFkk laLdj.k gSA

	 2.	 blds rgr mÙkj&iwoZ ds jkT;] igkM+h jkT;ksa] 
tEew&d'ehj] yn~nk[k vkSj }hiksa esa gokbZ lqfoèkk,¡ 
miyCèk djkus ij è;ku dsafnzr fd;k tk,xkA

	 3.	 ^mM+ku 4.0* ds rgr ukxfjd mM~M;u ea=kky; 
,;jykbuksa dks yxHkx 25% rd dh vfrfjDr 
ok;fcfyVh xSi iQafMax Hkh miyCèk djk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	36.	^jk"Vªh; dkS'ky fodkl fuxe (,u-,l-Mh-lh-)* ds 

lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@
gSa\

	 1.	 ;g ,d xSj&ykHkdkjh lkoZtfud fyfeVsM daiuh 
gSA

	 2.	 bldh LFkkiuk 31 tqykbZ] 2008 dks daiuh 
vfèkfu;e] 1956 dh èkkjk&25 ds rgr 
ljdkjh&futh Hkkxhnkjh ekWMy ds :i esa dh xbZ 
FkhA

	 3.	 ;g x`g ea=kky; ds vèkhu dke djrk gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 2

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 34.	 Consider the following statements in the context 
of Bharat Bond Exchange Traded Fund (ETF):

	 1.	 This will be the third corporate bond ETF in 
the country.

	 2.	 It has been introduced as an additional 
source of capital for central public sector 
enterprises and undertakings, central public 
financial institutions and other government 
organizations.

	 3.	 Initially Bharat Bond E.T.F. will be issued 
for two maturity periods - 3 years and 10 
years.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 35.	 Consider the following statements in the context 
of 'UDAN 4.0':

	 1.	 This is the fourth version of the regional 
connectivity scheme 'UDAN' (Ude Desh ka 
Aam Nagarik).

	 2.	 Under this scheme the focus will be on 
providing air facilities to the north-eastern 
states, hill states, Jammu-Kashmir, Laddakh 
and islands.

	 3.	 The Ministry of Civil Aviation will also 
provide additional viability gap funding up 
to 25% to airlines under 'UDAN 4.0'.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 36.	 Which of the following statements is/are correct 
in the context of 'National Skill Development 
Corporation (NSDC)'?

	 1.	 It is a non-profit public limited company.
	 2.	 It was established on 31st July, 2008 as a 

public-private partnership model under 
Section 25 of the Companies Act, 1956.

	 3.	 It works under the Ministry of Home 
Affairs.

		  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 only
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	37.	^balVsDl* oLrq fofue; iz.kkyh ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g Úk¡l] fczVsu rFkk teZuh }kjk bZjku ds lkFk 
izkjaHk dh xbZ ,d oLrq&fofue; iz.kkyh gS] ftldk 
mn~ns'; MkWyj dk iz;ksx u djrs gq, bZjku ds lkFk 
O;kikfjd lacaèk LFkkfir djuk gSA

	 2.	gky gh esa Ng vU; ;wjksih; ns'k& csfYt;e] 
MsuekdZ] fiQuySaM] uhnjySaM] ukWosZ vkSj LohMu bl 
fofue; iz.kkyh ls tqM+ x, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	38.	^mbxj eqfLye* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 mbxj eqfLye phu ds f'kuft;kax izkar esa fuokl 

djus okys vYila[;d gSaA

	 2.	 vesfjdh laln ^dkWUxzsl* ds fupys lnu ^gkml 
vkWiQ fjizstsUVsfVo* }kjk ̂ mbxj ekuokfèkdkj uhfr 
vfèkfu;e] 2019* ikfjr fd;k x;kA

	 3.	 bl foèks;d ds ikfjr gksus ds ckn vesfjdk }kjk 
phu ij mlds f'kuft;kax izkar ds eqfLye 
vYila[;dksa ds lkFk fd;s tkus okys nqO;Zogkj 
ds dkj.k] dbZ izfrcaèk yxk, tk,axsA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 dsoy 2
	39.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ^fpyh* nf{k.k vesfjdk ds mu ns'kksa esa 'kkfey 

gS] ftudh lhek,¡ czk”khy ls feyrh gSaA

	 2.	 fo'o dk lcls 'kq"d LFkku ^vfjdk* vts±Vhuk 
esa vofLFkr gSA

	 3.	 fo'o dk lcls cM+k rkack mRiknd 'kgj 
^pqDohdekVk* fpyh esa vofLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	40.	^fgan egklkxj fje ,lksfl,'ku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ^19osa fgan egklkxj fje ,lksfl,'ku* ds 

eaf=kLrjh; lEesyu dk vk;kstu ^vcqèkkch* esa 
fd;k x;kA

	 2.	 bl lEesyu dh Fkhe& ¶fgan egklkxj esa ,d lk>h 
fu;fr vkSj lèf¼ dh jkg dks izksRlkgu¸ FkhA

	 3.	 lEesyu dh vè;{krk la;qDr vjc vehjkr ,oa 
mikè;{krk Hkkjr }kjk dh xbZA

	 37.	 Consider the following statements in the context 
of 'INSTEX' barter system:

	 1.	 It is a barter system introduced by France, 
Britain and Germany with Iran, which aims 
to establish trade relations with Iran without 
using dollars.

	 2.	 Recently six other European countries- 
Belgium, Denmark, Finland, Netherlands, 
Norway and Sweden have joined this 
exchange system.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 38.	 Consider the following statements in the context 
of 'Uighur Muslim':

	 1.	 Uighur Muslims are a minority living in 
Xinjiang province of China.

	 2.	 The 'Uighur Human Rights Policy Act, 2019' 
was passed by the House of Representatives, 
the lower house of the US parliament.

	 3.	 After the passage of this bill, China will be 
subject to several restrictions by America 
for its mistreatment of Muslim minorities of 
Xinjiang province.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 2 only

	 39.	 Consider the following statements:
	 1.	 'Chile' is one of the countries of South 

America who share its borders with Brazil.
	 2.	 Arika, the world's driest place, is located in 

Argentina.
	 3.	 The world's largest copper producing city 

'Chuquicamata' is located in Chile.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 40.	 With reference to the ‘Indian Ocean Rim 
Association’ Consider the following statements.

	 1.	 Ministerial Conference of '19th Indian 
Ocean Rim Association' was held at 'Abu 
Dhabi'.

	 2.	 The theme of this conference was- 
"Promoting a Shared Destiny and path to  
prosperity in the Indian Ocean".

	 3.	 The conference was chaired by the United 
Arab Emirates and co-chaired by India.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3
	41.	^OgkbV f'kfiax* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 OgkbV f'kfiax dk vFkZ ^xSj&lSU; okf.kfT;d 

tgk”kksa dh igpku vkSj vkok”kkgh ds ckjs esa 
vfxze lwpukvksa dks lk>k dj mudk vknku&iznku 
djuk gSA

	 2.	 Hkkjrh; ukSlsuk dk lwpuk izcaèku vkSj fo'ys"k.k 
dsanz (xq#xzke) OgkbV f'kfiax le>kSrs ds fy;s 
ekWMy dsanz gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	42.	^U;w lkefjd 'kL=k U;wuhdj.k lafèk* (U;w LVkVZ) ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 U;w lkefjd 'kL=k U;wuhdj.k lafèk la;qDr jkT; 

vesfjdk vkSj :l ds chp lkefjd gfFk;kjksa esa 
deh ykus rFkk mUgsa lhfer djus lacaèkh ,d 
lafèk gSA

	 2.	 ;g o"kZ 1991 esa ^'khr ;q¼* ds var esa ykbZ xbZ 
LVkVZ&I lafèk dh vuqorhZ gS] tks 5 iQjojh] 2011 
dks ykxw gqbZ FkhA

	 3.	 bl lafèk dh vofèk 10 o"kZ gS] blfy;s ;g lafèk 
iQjojh 2021 esa O;ixr gks tk,xhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 3 	 (d)	 dsoy 2 vkSj 3
	43.	^isfjl Dyc* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 isfjl Dyc dh LFkkiuk o"kZ 1956 esa fodkl'khy 

vkSj mHkjrs ns'kksa dh Í.k lacaèkh leL;kvksa ds 
lekèkku ds fy;s dh xbZ FkhA

	 2.	 bldk lfpoky; isfjl esa fLFkr gS vkSj orZeku 
esa blds 22 LFkk;h lnL; gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	44.	^iksV~lZ vkWiQ dkWy* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\

	 1.	 bldk vk'k; ,sls canjxkg ls gS] ftldk iz;ksx 
ekyokgd ;k ;k=kh (Øw”k) tgk”k }kjk oLrqvksa 
vkSj ;kf=k;ksa dks mrkjus rFkk p<+kus ds fy;s fd;k 
tkrk gSA

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only

	 41.	 With reference to the 'White Shipping' consider 
the following statements:

	 1.	 White shipping refers to the sharing of 
advance information about the identification 
and movement of non-military commercial 
vessels.

	 2.	 The Indian Navy's Information Management 
and Analysis Centre (Gurugram) is the 
model centre for the White Shipping 
Agreement.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 42.	 Consider the following statements in the cotenxt 
of 'New Strategic Arms Reduction Treaty' (New 
Start):

	 1.	 The New Strategic Arms Reduction Treaty 
is a treaty between the United States 
and Russia to reduce and limit strategic 
weapons.

	 2.	 It is successor of the START-I treaty which 
came after the end of the 'Cold War' in 1991, 
and came into force on 5 February, 2011.

	 3.	 The duration of this treaty is 10 years, so 
this treaty will lapse in February 2021.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only

	 43.	 Consider the following statements in the cotenxt 
of 'Paris Club':

	 1.	 Paris Club was established in the year 1956 
to address the loan related problems of 
developing and emerging countries.

	 2.	 Its Secretariate is located in Paris and 
currently has 22 permanent members.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 44.	 Which of the following statements is/are correct 
in the cotenxt of 'Ports of Call'?

	 1.	 It refers to a port which is used by the cargo 
or passenger ship to take off and board 
goods and passengers.
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	 2.	 dsanzh; iksr ifjogu ea=kky; }kjk Hkkjr vkSj 
ckaXykns'k ds chp rVh; ukSifjogu le>kSrs ds 
varxZr ckaXykns'k ds eksaxyk rFkk pVxk¡o canjxkg 
dks ^iksV~lZ vkWiQ dkWy* ?kksf"kr fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	45.	gky gh esa bljks us ih-,l-,y-oh&lh47 jkWdsV dh 

lgk;rk ls dkVksZlSV&3 mixzg dks liQyrkiwoZd iz{ksfir 
fd;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ^dkVksZlSV&3* dkVksZlSV   Ük`a[kyk dk ukSok¡ mixzg 
gS] ftldk o”ku 1625 fdyksxzke gSA

	 2.	 bl mixzg dks i`Foh ds Åij lw;Z rqY;dkfyd 
d{kk esa 509 fdyksehVj dh Å¡pkbZ ij LFkkfir 
fd;k x;k gSA

	 3.	 ;g mixzg fjeksV lsaflax ds ekeys esa fo'o esa 
loZJs"B gksxk] blfy;s bls ^'kkisZLV vkbZ* dgk 
tk jgk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2
	46.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls uklk ds izFke 

bysfDVªd foeku ds lanHkZ esa lgh gS@gSa\
	 1.	 uklk us vius igys iw.kZ:i ls bysfDVªd izk;ksfxd 

foeku X-57 eSDlosy ds vkjafHkd laLdj.k dk 
vukoj.k fd;k gSA

	 2.	 o"kZ 2015 ls fuekZ.kkèkhu ;g foeku bVyh esa fufeZr 
Tecnam P2006T uked foeku ls izsfjr gSA

	 3.	 foeku esa iz;qDr 14 bysfDVªd eksVjksa dks fo'ks"k 
:i ls fM”kkbu dh xbZ fyfFk;e vk;u cSVjh 
}kjk ÅtkZ iznku dh tk,xhA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	47.	^Vsªfd;k lkWÝVos;j* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g iQkWjsafld lk{; izcaèku iz.kkyh gS] tks 

vkijkfèkd ?kVukLFky ls egÙoiw.kZ lSaiy@uewus 
,df=kr djus ls ysdj iwjh tk¡p rd lexz 
izfØ;kvksa ds lapkyu esa enn djrh gSA

	 2.	 bl lkWÝVos;j dks xq#xzke fLFkr bUosMj 
VsDuksykWth”k us fM”kkbu fd;k gSA

	 3.	 gky gh esa mÙkj izns'k ,oa fcgkj iqfyl us NsM+NkM+ 
eqDr vkijkfèkd tk¡p lqfuf'pr djus ds fy;s 
bl ckjdksfMax lkWÝVos;j dks viuk;k gSA

	 2.	 Mongla and Chittagong Port of Bangladesh 
have been declared as 'Ports of Call' under 
the coastal shipping agreement between 
India and Bangladesh by the Union Ministry 
of Shipping.

		  Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 45.	 Recently ISRO has successfully launched 
Cartosat-3 satellite with the help of PSLV-C47 
rocket. In this context, consider the following 
statements:

	 1.	 Cartosat-3 is the ninth satellite of Cartosat 
series, which weighing 1625 kg.

	 2.	 This satellite is placed in the sun-
synchronous orbit above the earth at the 
height of 509 km.

	 3.	 This satellite will be the best in the world 
in remote sensing, hence it is being called 
'Sharpest Eye'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 only

	 46.	 Which of the following statement(s) is / are correct 
in the context of NASA's first electric aircraft?

	 1.	 NASA has unveiled the initial version of 
its first fully electric experimental aircraft 
X-57 Maxwell.

	 2.	 The aircraft, which has been under 
construction since 2015, is inspired by 
an aircraft manufactured in Italy called 
Tecnam P2006T.

	 3.	 The 14 electric motors used in the aircraft 
will be charged by specially designed 
lithium ion batteries.

		  Code:
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 47.	 With reference to 'Trakea software' Consider the 
following statements:

	 1.	 It is a forensic evidence management 
system, which helps in the conduct of 
the entire process, for collecting critical 
samples from the criminal scene to the 
entire investigation.

	 2.	 This software is designed by Invador 
Technologies based in Gurugram.

	 3.	 Recen	tly Uttar Pradesh and Bihar Police 
have adopted this barcoding software to 
ensure tamper-free criminal investigation.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	48.	yanu esa vk;ksftr fel oYMZ C;wVh istsaV 2019 dk 

f[krkc fuEufyf[kr esa ls fdl izfr;ksxh us thrk\

	 (a)	 ”kksf”kfcuh Vwa”kh	 (b)	 Vksuh ,u- flag
	 (c)	 vksÝys es”khuks 	 (d)	 lqeu jko
	49.	fuEufyf[kr esa ls fdl lkfgR;dkj dks o"kZ 2019 dk 

55ok¡ KkuihB iqjLdkj ls lEekfur fd;k x;k gS\

	 (a)	 vfDdre vP;qru uacwfFkjh
	 (b)	 oh- eèkqlwnu uk;j
	 (c)	 canh ukjk;.k Lokeh
 	 (d)	 vferko ?kks"k
	50.	^vH;kl bUnz&2019* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 Hkkjr vkSj :l ds chp bl la;qDr lSU; vH;kl 

dk vk;kstu 10-19 fnlacj 2019 ds nkSjku 
Xokfy;j] cchuk (>k¡lh)] iq.ks vkSj xksok esa fd;k 
x;kA

	 2-	 bUnz lSU; vH;kl  Ük`a[kyk dh 'kq#vkr o"kZ 2015 
esa gqbZ FkhA

	 3-	 o"kZ 2017 esa :l esa ,slk igyk la;qDr lSU; 
vH;kl dk vk;kstu fd;k x;k] ftlesa nksuksa ns'kksa 
dh Fky] ok;q ,oa ty lsukvksa us Hkkx fy;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	51.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
		  lSU; vH;kl		 'kkfey ns'k

	 1.	 gSaM&bu&gSaM lSU;kH;kl	%	Hkkjr vkSj Jhyadk

	 2-	 fe=k 'kfDr ;q¼kH;kl	 %	Hkkjr vkSj phu

	 3-	 lw;Z fdj.k	 %	Hkkjr vkSj usiky

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr ugha gS@
gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	52.	^oSf'od ySafxd varjky fjiksVZ&2020* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fo'o vkfFkZd eap }kjk tkjh bl fjiksVZ esa 

Hkkjr 91@100 fyaxkuqikr ds lkFk 112osa LFkku 
ij jgkA

	 2-	 bl fjiksVZ esa vkblySaM dks ySafxd vkèkkj ij 
lcls de HksnHkko djus okyk ns'k crk;k x;kA

	 3-	 LokLF; ,oa mÙkjthfork ds {ks=k esa Hkkjr dk 
izn'kZu cgqr vPNk jgkA

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 48.	 Which of the following contestants won the title 
of Miss World Beauty Pageant 2019 held in 
London?

	 (a)	 Zozibini Tunzi	 (b)	 Tony N Singh
	 (c)	 Ofele Mezzino	 (d)	 Suman Rao

	 49.	 Which of the following author has been awarded 
the 55th Jnanpith Award for the year 2019?

	 (a)	 Akkitam Achuthan Nambuthiri
	 (b)	 V Madhusudan Nair
	 (c)	 Bandi Narayan Swami
	 (d)	 Amitav Ghosh

	 50.	 Consider the following statements in the context 
of 'Exercise Indra-2019':

	 1.	 This joint military exercise between India 
and Russia was organized in Gwalior, 
Babina (Jhansi), Pune and Goa during 10–
19 December 2019.

	 2.	 Indra Military Exercise Series was started 
in the year 2015.

	 3.	 The first such joint military exercise was 
organized in Russia in the year 2017, in 
which army, air force and navy of both the 
countries participated.

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 51.	 Consider the following pairs:
	 Military exercises	 Countries involved
	 1.	 Hand-in-hand exercise	 :	 India and Sri 

Lanka
	 2.	 Mitra Shakti exercise	 :	 India and China
	 3.	 Surya Kiran	 :	 India and Nepal

		  Which of the pair(s) given above is/are not 
correctly matched?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 52.	 Consider the following statements in the context 
of 'Global Gender Gap Report -2020':

	 1.	 India ranked 112th with a 91/100 sex ratio in 
this report released by the World Economic 
Forum.

	 2.	 The Iceland was ranked as the least 
discriminatory country on the basis of 
gender in this report.

	 3.	 India's performance in the field of health 
and survival was very good.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	53.	^Likbd* felkby ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 gky gh esa Hkkjrh; lsuk us eè; izns'k esa egw ds 

bUiQSaVªh Ldwy esa VSadHksnh Likbd&LR dk liQy 
ijh{k.k fd;kA

	 2-	 Likbd&LR pkj fdyksehVj dh nwjh rd 'k=kq ds 
VSad ij vpwd fu'kkuk lkèk ldrh gSA

	 3-	 Likbd&LR ̂ nkxks vkSj Hkwy tkvks* dh {kerk ds 
lkFk gh ^nkxks] ns[kks vkSj fiQj fu'kkuk lkèkks* 
rduhd ls Hkh ;qDr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	54.	^vle :ÝM VVZy* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh gS@gSa\
	 1.	 bldk oSKkfud uke iax'kqjk flygsVsafll gSA

	 2-	 dNq, dh ;g iztkfr iwoksZÙkj Hkkjr vkSj iwoksZÙkj 
o nf{k.kh&iwohZ ckaXykns'k ds igkM+h {ks=kksa esa rk”ks 
ikuh esa ikbZ tkrh gSA

	 3-	 ;g iztkfr vkbZ-;w-lh-,u- dh jsM fyLV esa 
ladVxzLr iztkfr;ksa dh Js.kh esa 'kkfey gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 2 	 (d)	 dsoy 3
	55.	^fo'o eysfj;k fjiksVZ] 2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr fo'o esa eysfj;k ls lcls vfèkd izHkkfor 

4 ns'kksa dh lwph ls ckgj gks x;k gSA

	 2-	 Hkkjr vHkh Hkh lcls vfèkd izHkkfor 11 ns'kksa 
dh lwph esa 'kkfey ,dek=k xSj&vÚhdh ns'k gSA

	 3-	 Hkkjr esa yxHkx 47% ekeyksa esa eysfj;k dk 
dkj.k Iyk”eksfM;e fooSDl jgk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	56.	^xks Cyw vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 20 uoacj] 2019 dks varjkZ"Vªh; cky fnol ds 

volj ij cPpksa dh lqj{kk rFkk muds vfèkdkjksa 
ds laj{k.k ds fy;s la;qDr jk"Vª cky dks"k 
(;wfulsiQ) }kjk ^xks Cyw vfHk;ku* dk 'kqHkkjaHk 
fd;k x;kA

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 53.	 With reference to the 'Spike' missile Consider the 
following statements:

	 1.	 Recently the Indian Army has successfully 
tested antitank spike-LR at Mhow's Infantry 
School in Madhya Pradesh.

	 2.	 The Spike-LR can hit the enemy's tank for a 
distance of up to four kilometers.

	 3.	 Spike-LR is also equipped with the ability 
to 'fire and forget' and 'fire, observe and 
update' technique.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 54.	 Which of the following statements is/are correct 
in the context of 'Assam Roofed Turtle'?

	 1.	 Its scientific name is Pangshura silhetensis.
	 2.	 This species of turtle is found in fresh water 

in the hilly areas of Northeast India and 
Northeast and South-Eastern Bangladesh.

	 3.	 This species is included in the IUCN Red 
List of threatened species category.

	 Code:
	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 2 only	 (d)	 3 only

	 55.	 With reference to the 'World Malaria Report, 2019' 
Consider the following statements:

	 1.	 India has been excluded from the list of 4 
most affected countries by malaria in the 
world.

	 2.	 India is still the only non-African country 
included in the list of 11 most affected 
countries.

	 3.	 Plasmodium vivax is the cause of malaria in 
about 47% of cases in India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 56.	 Consider the following statements in the context 
of 'Go Blue Campaign':

	 1.		 'Go Blue Campaign' was launched by United 
Nations Children's Fund (UNICEF) for the 
protection of children and their rights on the 
occassion of International Children's Day 
on 20 November, 2019.
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	 2-	 bl vfHk;ku ds rgr nqfu;k Hkj dh egÙoiw.kZ 
bekjrksa dks uhys jax ls jaxk tk,xk ;k fiQj uhyh 
ykbVksa ls izdkf'kr fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	57.	^dqfpiqM+h u`R;* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 dqfpiqM+h ,d 'kkL=kh; u`R; 'kSyh gS] ftldk tUe 

rfeyukMq ds dqpsyiqje xk¡o esa gqvk FkkA

	 2-	 dqphiqM+h u`R; esa dukZVd laxhr dk iz;ksx fd;k 
tkrk gSA

	 3-	 14 fnlacj] 2019 dks la;qDr jkT; vesfjdk ds 
ykWl ,aftYl fLFkr okWYV fM”kuh dkWUlVZ gkWy esa 
dqfpiqM+h u`R; dk eapu fd;k x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 	 (d)	 dsoy 1 vkSj 2
	58.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr esa 38 ;wusLdks fo'o èkjksgj LFky gSa] ftuesa 

ls 30 lkaLÑfrd LFky] 7 izkÑfrd LFky vkSj 
1 fefJr LFky gSA

	 2-	 ;wusLdks dh lkaLÑfrd èkjksgj LFkyksa dh lwph esa 
'kkfey uohure LFkku ^t;iqj* gSA

	 3-	 fo'o èkjksgj lIrkg 19-25 uoacj ds nkSjku 
;wusLdks }kjk euk;k x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 59.	^taxqckbZ xqiQk eafnj* vkSj ^diykbZ xqiQk,¡* xksaM] ijèkku 

rFkk dksye vkfn tutkfr;ksa ds fy;s rhFkZLFky ds :i 
esa izfl¼ gSaA ;s vofLFkr gSa&

	 (a)	 eè; izns'k&NÙkhlx<+ lhek ij
	 (b)	 egkjk"Vª&rsyaxkuk lhek ij
	 (c)	 fcgkj&>kj[kaM lhek ij
 	 (d)	 mi;qZDr esa ls dksbZ ugha
	 60.	^iq"ik oh.kk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 gky gh esa bafM;k baVjus'kuy fxVkj iQsfLVoy 

2019 esa ^iq"ik oh.kk* dh vkfèkdkfjd ykWfUpax 
dh xbZA

	 2-	 bl oh.kk dk vkfo"dkj izfl¼ Hkkjrh; fxVkjoknd 
nsck'kh"k HkV~Vkpk;Z us fd;k gSA

	 3.	 iq"ik oh.kk ,d rr~ ok| ;a=k gS] tks iwoZorhZ 
prqjaxh] vkuanh vkSj xaèkoZ oh.kkvksa ls cgqr vyx 
gSA

	 2.	 The important buildings around the world 
will be painted blue or illuminated with blue 
lights under this campaign.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 57.	 Consider the following statements in the context 
of 'Kuchipudi dance':

	 1.	 Kuchipudi is a classical dance form, which 
born in the village of Kuchelapuram in 
Tamil Nadu.

	 2.	 Carnatic music is used in Kuchipudi dance.
	 3.	 Kuchipudi dance was staged at the Walt 

Disney Concert Hall in Los Angeles, United 
States, on December 14th 2019.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 2 and 3 only
	 (c)	 1 only	 (d)	 1 and 2 only

	 58.	 Consider the following statements:
	 1.	 India has 38 UNESCO World Heritage 

Sites, out of which 30 are cultural sites, 7 
natural sites and 1 mixed site.

	 2.	 The latest place in the list of cultural 
heritage sites of UNESCO is 'Jaipur'.

	 3.	 World Heritage Week was celebrated by 
UNESCO during 19-25 November.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 59.	 The 'Jungubai Cave Temple' and 'Kapalai Caves' 
are famous as pilgrimage centers for Gond, 
Pardhan and Kolam tribes. These are located at-

	 (a)	 Madhya Pradesh-Chhattisgarh border
	 (b)	 Maharashtra-Telangana border
	 (c)	 Bihar-Jharkhand border
	 (d)	 None of the above

	 60.	 Consider the following statements in the context 
of 'Pushpa Veena':

	 1.	 Recently 'Pushpa Veena' was officially 
launched at India International Guitar 
Festival 2019.

	 2.	 This veena has been invented by the famous 
Indian guitarist Debashish Bhattacharya.

	 3.	 Pushpa Veena is an string instrument, 
and it is very different from the erstwhile 
Chaturangi, Anandi and Gandharva Veena.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	61.	^Hkkjrh; laLÑfr iksVZy* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g ljdkj }kjk vfèkÑr igyk iksVZy gS] tgk¡ 

laLÑfr ea=kky; ds fofHkUu laxBuksa ds Kku ,oa 
lkaLÑfrd lalkèkuksa dks ,d gh lkoZtfud eap 
ij miyCèk djk;k tk,xkA 

	 2.	 bls Hkkjrh; izkS|ksfxdh laLFkku (ckWEcs) }kjk 
fodflr fd;k x;k Fkk] tcfd MkVk dk ladyu 
bafnjk xkaèkh jk"Vªh; eqDr fo'ofo|ky; }kjk fd;k 
x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	62.	^baVjusV 'kVMkmu* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ljdkj }kjk fdlh vofèk ds fy;s fdlh fo'ks"k 

{ks=k ;k {ks=kksa esa baVjusV rd igq¡p dks izfrcafèkr 
dj nsuk baVjusV 'kVMkmu dgykrk gSA 

	 2.	 nwjlapkj vLFkk;h lsok fuyacu (yksd vkikr ;k 
yksd lqj{kk) fu;e] 2017 x`g ea=kky; ds lfpo 
;k jkT; ds l{ke inkfèkdkjh dks nwjlapkj lsokvksa 
ds fuyacu dk vfèkdkj nsrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa  	 (d)	 u rks 1] u gh 2
	63.	^jk"Vªh; vijkèk fjdkWMZ C;wjks* (,u-lh-vkj-ch-) ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ,u-lh-vkj-ch- dh LFkkiuk ;kstuk vk;ksx ds 

varxZr o"kZ 1996 esa vijkèk vkSj vijkfèk;ksa dh 
lwpukvksa dk laxzg djus ds fy;s dh xbZ FkhA 

	 2.	 o"kZ 2009 ls ;g vijkèk ,oa vijkèkh VªSfdax 
usVodZ ,aM flLVe ;kstuk dh ns[k&js[k] leUo; 
rFkk ykxw djus dk dk;Z dj jgk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	64.	^”khjks ,iQ-vkbZ-vkj-* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ^”khjks ,iQ-vkbZ-vkj* fdlh Hkh iqfyl LVs'ku }kjk 

vius vfèkdkj&{ks=k ds ckgj Hkh fdlh laKs; 
vijkèk ds ekeys esa iathÑr dh tk ldrh gSA 

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 61.	 Consider the following statements in the context 

of 'Indian Culture Portal':
	 1.	 It is the first portal authorized by the 

government, where the knowledge and 
cultural resources of various organizations 
of the Ministry of Culture will be made 
available on the same public platform.

	 2.	 It has been developed by the Indian Institute 
of Technology (Bombay), while the data is 
compiled by the Indira Gandhi National 
Open University.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 62.	 Consider the following statements in the context 

of 'Internet Shutdown':
	 1.	 To restrict access to the Internet in a 

particular area or areas for a period, by the 
government is called ‘Internet Shutdown’.

	 2.	 The Telecom Temporary Service 
Suspension (Public Emergency or Public 
Safety) Rules, 2017 gives the authority 
to the Secretary of the Ministry of Home 
Affairs or the competent authority of the 
state for suspension of telecommunication 
services.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 63.	 Consider the following statements in the context 

of 'National Crime Records Bureau' (NCRB):
	 1.	 NCRB was established in the year 1996 

under the Planning Commission to collect 
information about crime and criminals.

	 2.	 It has been working to oversee, coordinate 
and implement the Crime and Criminal 
Tracking Network and System Scheme 
since 2009.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 64.	 Consider the following statements in the context 
of 'Zero FIR':

	 1.	 'Zero FIR' can be registered at any police 
station even outside its jurisdiction in case 
of a cognizable offense.
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	 2.	 gky gh esa vkaèkz izns'k esa Ñ".kk f”kys ds       
dkaphpsjyk esa uanhxkek mi[kaM ds varxZr igyh 
”khjks ,iQ-vkbZ-vkj- ntZ dh xbZ gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa  	 (d)	 u rks 1] u gh 2
	65.	18-21 uoacj] 2019 rd ̂ Ñf"k lkaf[;dh ij varjkZ"Vªh; 

lEesyu* ds 8osa laLdj.k dk vk;kstu fd;k x;k&

	 (a)	 ubZ fnYyh esa	 (b)	 eqacbZ esa

	 (c)	 vkxjk esa 	 (d)	 iVuk esa
	66.	19 uoacj] 2019 dks fo'o 'kkSpky; fnol ds volj 

ij ty 'kfDr ea=kky; }kjk fofHkUu Jsf.k;ksa gsrq LoPN 
losZ{k.k xzkeh.k iqjLdkj&2019 iznku fd;s x,A lexz 
:i ls jkT;ksa dh Js.kh esa fuEufyf[kr esa ls dkSu&lk 
jkT; 'kh"kZ ij jgk\

	 (a)	 xqtjkr	 (b)	 rfeyukMq

	 (c)	 gfj;k.kk 	 (d)	 >kj[kaM
	67.	^jk"Vªh; foÙkh; fjiksfV±x izkfèkdj.k (,u-,iQ-vkj-,)* ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh LFkkiuk daiuh vfèkfu;e] 2013 ds rgr 

o"kZ 2018 esa dh xbZ FkhA 

	 2.	 ,u-,iQ-vkj-,- dh LFkkiuk ds dkj.k Hkkjr vc 
^varjkZ"Vªh; iQksje vkWiQ bafMisaMsaV vkWfMV jsxqysVj* 
dh lnL;rk ds fy;s ik=k gS] tks oSf'od Lrj 
ij vkWfMfVax esa lqèkkj djds fuos'kdksa dh lqj{kk 
c<+kus dk dk;Z djrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	68.	gky gh esa uspj ,LVªksukseh if=kdk esa izdkf'kr ,d 

vè;;u eas izkÑfrd mixzg ̂ ;wjksik* dh lrg ij tyok"i 
dh iqf"V dh xbZ gSA ^;wjksik* fuEufyf[kr esa ls fdl 
xzg dk izkÑfrd mixzg gS\ 

	 (a)	 cqèk	 (b)	 c`gLifr

	 (c)	 'kfu 	 (d)	 v#.k
	69.	^Hkkjrh; iks"k.k ,aFkse* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ^Hkkjrh; iks"k.k ,aFkse* dh 'kq#vkr Hkkjrh; 

izèkkuea=kh }kjk ^cky fnol* ds volj ij dh 
xbZA 

	 2.	 bl ,aFkse dh voèkkj.kk dk lq>ko efgyk ,oa 
cky fodkl ea=kky; }kjk fn;k x;k FkkA 

	 3.	 bl ,aFkse dks e'kgwj xhrdkj izlwu tks'kh us fy[kk 
gS vkSj 'kadj egknsou us vkok”k nh gSA 

	 2.	 Recently the first Zero FIR has been 
registered under Nandigama subdivision at 
Kancheicherla in Krishna district in Andhra 
Pradesh.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 65.	 The 8th edition of 'International Conference on 

Agricultural Statistics' was organized from 18-21 
November 2019 in-

	 (a)	 New Delhi	 (b)	 Mumbai
	 (c)	 Agra	 (d)	 Patna
	 66.	 On the occasion of World Toilet Day on 19th 

November 2019, the Ministry of Hydro Power 
presented the Swachh Survekshan Grameen 
Puraskar-2019 for various categories. Which of 
the following states topped the overall category of 
states?

	 (a)	 Gujarat	 (b)	 Tamil Nadu
	 (c)	 Haryana	 (d)	 Jharkhand
	 67.	 Consider the following statements in the context 

of 'National Financial Reporting Authority 
(NFRA)':

	 1.	 It was established in the year 2018 under the 
Companies Act, 2013.

	 2.	 Due to the establishment of NFRA, India 
is now eligible for membership of the 
'International Forum of Independent Audit 
Regulators', which works to improve 
investor protection by improving auditing 
globally.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 68.	 Recently, a study published in the journal Nature 

Astronomy has confirmed the water vapour on the 
surface of the natural satellite 'Europa'. 'Europa' is 
the natural satellite of which of the following 
planets?

	 (a)	 Mercury	 (b)	 Jupiter
	 (c)	 Saturn	 (d)	 Uranus
	 69.	 Consider the following statements in the context 

of 'Indian Nutrition Anthem':
	 1.	 The 'Indian Nutrition Anthem' was launched 

by the Indian Prime Minister on the occasion 
of Children's Day.

	 2.	 The concept of this anthem was suggested 
by the Ministry of Women and Child 
Development.

	 3.	 This anthem is written by famous lyricist 
Prasoon Joshi and voiced by Shankar 
Mahadevan.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	70.	^yksdVd >hy* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\
	 1.	 ;g >hy iwoksZÙkj esa rk”ks ikuh dh lcls cM+h 

>hy gSA

	 2.	 ;g ef.kiqj ds eksbjax 'kgj esa fLFkr gSA 

	 3.	 fo'o dk ,dek=k rSjrk gqvk dscqy yketkvks 
jk"Vªh; m|ku blh >hy ij fLFkr gSA 

	 4.	 ;g vknzZHkwfe;ksa dh jkelj lwph esa 'kkfey gSA 

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 1, 3 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	 71.	 jk"Vªifr dh ^ohVks* ;k ^fu"ksèkkfèkdkj* 'kfDr ds lanHkZ 

esa fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1.	 vkR;afrd ohVks% ,slh ohVks 'kfDr ftls ,d fo'ks"k 
cgqer ls foèkkf;dk }kjk [kkfjt fd;k tk 
ldrk gSA

	 2.	 fo'ksf"kr ohVks% ,slk ohVks] tks foèkkf;dk }kjk 
ikfjr foèks;d dks iwjh rjg [kkfjt dj ldrk gksA 

	 3.	 tsch ohVks% dk;Zikfydk ds izeq[k }kjk foèks;d 
ij LohÑfr ;k vLohÑfr izfrfØ;k dh ctk; 
mls vius ikl iM+s jgus nsukA 

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\
	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	72.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fuank izLrko dsoy yksdlHkk esa gh yk;k tk 

ldrk gS vkSj ;g dsoy foi{k ds fdlh lnL; 
}kjk gh is'k fd;k tkrk gSA 

	 2.	 'kwU;dky dh ppkZ laln ds izfØ;k lacaèkh fu;eksa 
esa ugha dh xbZ gSA 

	 3.	 LFkxu izLrko 50 lnL;ksa ds leFkZu ds lkFk rFkk 
ihBklhu vfèkdkjh dh vuqefr ls gh izLrqr fd;k 
tk ldrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	73.	^eq[;ea=kh dh fu;qfDr* ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 eq[;ea=kh dh fu;qfDr jkT;iky djrk gS vkSj vU; 

eaf=k;ksa dh fu;qfDr jkT;iky eq[;ea=kh dh lykg 
ij djrk gSA 

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 70.	 Which of the following statement(s) is/are correct 
in the context of 'Loktak Lake'?

	 1.	 This is the largest lake of fresh water in the 
northeast region.

	 2.	 It is located in Moirang town of Manipur.
	 3.	 The world's only floating Kebul Lamjao 

National Park is located on this lake.
	 4.	 It is included in the Ramsar list of wetlands.

		  Code:
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 71.	 Consider the following pairs in the context of  'Veto' 
power of the President:

	 1.	 Absolute veto: A veto power that can be 
rejected by the legislature by a special 
majority.

	 2.	 Suspensive veto: A veto that can completely 
reject a bill passed by the legislature.

	 3.	 Pocket veto: Let the Executive Head hold 
the bill instead of accepting or rejecting it.

		  Which of the above pair(s) is/are correctly matched?
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 72.	 Consider the following statements:
	 1.	 A motion of censure can only be brought in 

the Lok Sabha and it is moved by a member 
of the opposition only.

	 2.	 Zero Hour is not discussed in the rules of 
Procedure of Parliament.

	 3.	 The adjournment motion can be submitted 
with the support of 50 members and only 
with the permission of the Presiding Officer.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 73.	 With reference to the 'Appointment of Chief 
Minister' Consider the following statements:

	 1.	 The Chief Minister is appointed by the 
Governor and the other ministers are 
appointed by the Governor on the advice of 
the Chief Minister.
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	 2.	 eq[;ea=kh ds in ij fdlh ,sls O;fDr dks Hkh 
fu;qDr fd;k tk ldrk gS] tks foèkkueaMy ds 
fdlh lnu dk lnL; u gksA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	74.	^èku foèks;d* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 èku foèks;d ds ekeys esa foèkkulHkk dks yksdlHkk 

dh rjg gh fo'ks"k vfèkdkj fn;s x, gSaA 

	 2.	 vuqPNsn&200 ds rgr èku foèks;d ds ekeys esa 
jkT;iky dks ;g vfèkdkj gS fd og mls jkT; 
ds foèkkueaMy dks iqufoZpkj ds fy;s okil Hkst 
ldsA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	75.	fuEufyf[kr esa ls dkSu&lk@ls fo"k; ^leorhZ lwph* esa 

'kkfey gS@gSa\
	 1.	 f'k{kk

	 2.	 tula[;k fu;a=k.k

	 3.	 oU;thokas vkSj if{k;ksa dk laj{k.k

	 4.	 ewY; fu;a=k.k

	 5.	 flfoy izfØ;k lafgrk

	 6.	 yksd LokLF; vkSj LoPNrk

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 6
	 (b)	 dsoy 1, 2, 3, 4 vkSj 5

	 (c)	 dsoy 2, 3 vkSj 4
 	 (d)	 dsoy 3, 5 vkSj 6
	76.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jk"Vªifr dks ;g 'kfDr nh xbZ gS fd og la?k 

jkT;{ks=k ds fy;s fdlh O;fDr dks iz'kkld fu;qDr 
dj ldsA

	 2.	 vuqPNsn&240 ds rgr jk"Vªifr dks dqN la?k 
jkT;{ks=kksa ds fy;s fofu;e cukus dh 'kfDr nh 
xbZ gSA 

	 3.	 vuqPNsn&239(d) ds vuqlkj laln dks dqN 
la?k jkT;{ks=kksa ds lacaèk esa ;g vfèkdkj fn;k x;k 
Fkk fd og fofèk }kjk ml jkT;{ks=k ds fy;s 
eaf=kifj"kn dk l`tu dj ldsxhA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 2.	 A person who is not a member of any House 
of the Legislature can also be appointed to 
the post of Chief Minister.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 74.	 Consider the following statements in the context 
of 'Money Bill':

	 1.	 The Legislative Assembly has been given 
special powers like Lok Sabha in the matter 
of money bill.

	 2.	 The Governor has the right to send it back to 
the State Legislature for reconsideration in 
the matter of money bill under Article-200.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 75.	 Which of the following subject(s) is/are included 
in the 'Concurrent List'?

	 1.	 Education
	 2.	 Population control
	 3.	 Protection of wildlife and birds
	 4.	 Price control
	 5.	 Code of Civil Procedure
	 6.	 Public Health and Sanitation

		  Select the correct answer using the code given 
below:

	 (a)	 6 only
	 (b)	 1, 2, 3, 4 and 5 only
	 (c)	 2, 3 and 4 only
	 (d)	 3, 5 and 6 only

	 76.	 Consider the following statements:
	 1.	 The President has been conferred with the 

power to appoint a person as administrator 
for the Union territory.

	 2.	 The President has been empowered to make 
regulations for certain Union territories 
under Article-240.

	 3.	 According to Article 239 (a), Parliament 
has been empowered with respect to certain 
Union territories, that it could create a Council 
of Ministers for that territory by law.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	77.	^Hkkjr dk egkfèkoDrk* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 egkfèkoDrk Hkkjr ljdkj dk loksZPp fofèk 
vfèkdkjh gSA 

	 2.	 egkfèkoDrk dk in laoSèkkfud u gksdj ek=k 
oSèkkfud gSA 

	 3.	 egkfèkoDrk dk izeq[k dk;Z egkU;k;oknh dh 
lgk;rk djuk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	78.	vuqPNsn&61 esa jk"Vªifr dks gVkus ds fy;s egkfHk;ksx 

pykus dh izfØ;k esa 'kkfey micaèk gS@gSa&

	 1.	 laln dk dksbZ lnu jk"Vªifr ij ^lafoèkku ds 
vfrØe.k* dk vkjksi yxk,xk] tks ,d ladYi 
ds :i esa gksuk pkfg;sA 

	 2.	 lnu dh dqy la[;k ds de&ls&de 1/4 lnL;ksa 
}kjk gLrk{kfjr ladYi izLrko gksA 

	 3.	 lnu dh dqy lnL; la[;k ds de&ls&de 2/3 
cgqer ls ladYi ikfjr gksA 

	 	dwV%

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	79.	^lk{kj Hkkjr* dk;ZØe ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl dk;ZØe dh 'kq#vkr varjkZ"Vªh; lk{kjrk fnol 
8 flracj] 2018 dks dh xbZ FkhA 

	 2.	 blds varxZr 15 o"kZ ;k vfèkd vk;q oxZ ds 
fuj{kjksa dks f'kf{kr fd;k tk jgk gSA 

	 3.	 bldk fo”ku jk"Vªh; Lrj ij 80% lk{kjrk nj 
izkIr djuk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2 

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	80.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 2019 ds bafnjk xkaèkh 'kkafr] fu%'kL=khdj.k 
,oa fodkl iqjLdkj ds fy;s izfl¼ izÑfroknh 
,oa izlkj.kdÙkkZ lj MsfoM ,Vsucjks ds uke dh 
?kks"k.kk dh xbZ gSA 

	 2.	 ;g iqjLdkj bafnjk xkaèkh eseksfj;y VªLV }kjk iznku 
fd;k tkrk gSA 

	 3.	 o"kZ 2018 esa ;g iqjLdkj lquhrk ukjk;.k dks 
fn;k x;k FkkA 

	 77.	 Consider the following statements in the context 
of 'Advocate General of India':

	 1.	 The Advocate General is the highest law 
officer of the Government of India.

	 2.	 The post of Advocate General is only 
statutory and not constitutional.

	 3.	 The main function of the Advocate General 
is to assist the Attorney General.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 78.	 Article 61 provides for the process of impeachment 
for the removal of the President, it includes-

	 1.	 A House of Parliament will accuse the 
President for 'violation of the Constitution', 
which should be in the form of a resolution.

	 2.	 The resolution must be signed by at least 1/4 
members of the total strength of the House.

	 3.	 The resolution must be passed by at least 
a 2/3 majority of the total strength of the 
House.

		  Code:
	 (a)	 1 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 79.	 Consider the following statements in the context 
of  'Saakshar Bharat' programme:

	 1.	 The programme was launched on 8th 
September 2018 on International Literacy 
Day.

	 2.	 The illiterates aged 15 years or more are 
being educated under this programme.

	 3.	 Its vision is to achieve 80% literacy rate at 
the national level.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 80.	 Consider the following statements:
	 1.	 The name of famous naturalist and 

broadcaster Sir David Attenborough has 
been declared for Indira Gandhi Peace, 
Disarmament and Development Award 
2019.

	 2.	 The award is given by the Indira Gandhi 
Memorial Trust.

	 3.	 In the year 2018, this award was given to 
Sunita Narayan.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	81.	^fo'ks"k lqj{kk ny (la'kksèku) foèks;d] 2019* ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; laln us fo'ks"k lqj{kk ny (la'kksèku) 
foèks;d] 2019 ikfjr fd;k] ftlds }kjk o"kZ 
1988 ds ewy vfèkfu;e eas la'kksèku fd;k x;k gSA 

	 2.	 ewy vfèkfu;e ds vuqlkj] inkofèk iwjh djus ds 
ckn iwoZ izèkkueaf=k;ksa ,oa muds ifjokj ds djhch 
lnL;ksa dks ,d o"kZ rd ,l-ih-th- lqj{kk iznku 
djkbZ tkrh gSA 

	 3.	 ,l-ih-th- Hkkjr ljdkj ds dSfcusV lfpoky; 
ds vèkhu vkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2

	 (d)	 dsoy 1 vkSj 3
	82.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dqdh vkSj tkseh tutkrh; lewg dk laca/ eq[; 
:i ls ef.kiqj jkT; ls gSA

	 2.	 cksMks czãiq=k unh ?kkVh ds mÙkjh fgLls esa clh 
vle dh lcls cM+h ,oa Hkkjrh; lafoèkku dh 
NBh vuqlwph ds varxZr Hkkjr dh ,d egÙoiw.kZ 
tutkfr gSA 

	 	mi;qZDr dFkukas esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1] u gh 2
	83.	^yksdiky* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 uoxfBr yksdiky us ̂ bZ'kkokL; mifu"kn~* ds ,d 
'yksd ¶ek x`|% dL;fLo¼ue~* dks è;s; okD; 
pquk gSA 

	 2.	 mÙkj izns'k ds iz;kxjkt ds jgus okys iz'kkar feJ 
dh fM”kkbu dks yksdiky ds ^yksxks* ds fy;s 
pquk x;k gSA 

	 3.	 yksdiky dk yksxks blds lkj :i dks n'kkZrk gS] 
tSls& yksdiky (U;k;kèkh'k ihB)] yksx (rhu 
ekuo vkÑfr;k¡)] lrdZrk (v'kksd pØuqek 
vk¡[k)] fofèk (iqLrd ds vkdkj esa) vkfnA 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 81.	 Consider the following statements in the context 
of the 'Special Protection Group (Amendment) 
Bill, 2019':

	 1.	 The Parliament of India passed the Special 
Protection Group (Amendment) Bill, 2019, 
by which the Basic Act of 1988 has been 
amended.

	 2.	 According to the original Act the SPG 
protection is provided to former Prime 
Ministers and close family members for one 
year after the completion of their term.

	 3.	 SPG comes under the Cabinet Secretariate 
of the Government of India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1, 2 and 3
	 (c)	 2 only
	 (d)	 1 and 3 only

	 82.	 Consider the following statements:
	 1.	 The kuki and zomi tribal groups are mainly 

concerned with Manipur state.
	 2.	 The Bodo is the largest tribe of Assam in 

the northern part of the Brahmaputra river 
valley and an important tribe of India under 
the Sixth Schedule of the Constitution of 
India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 83.	 Consider the following statements in the context 
of  'Lokpal':

	 1.	 The newly constituted Lokpal has chosen 
the motto "Ma Gridhah Kasyasvidhanam", 
a shloka from the 'Ishavasya Upanishad'.

	 2.	 The design of Prashant Mishra, who lives in 
Prayagraj, Uttar Pradesh, has been selected 
for the logo of Lokpal.

	 3.	 The logo of the Lokpal shows its essence, 
such as - Lokpal (Judicial Bench), People 
(three human figures), Vigilance (An eye 
like Ashok Chakra), Law (in the shape of a 
book) etc.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	84.	^oSf'od tyok;q tksf[ke lwpdkad] 2020* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fnlacj 2019 esa i;kZoj.k fFkad VSad ^teZuokp* 

}kjk ^15ok¡ oSf'od tyok;q tksf[ke lwpdkad] 
2020* tkjh fd;k x;kA 

	 2.	 lwpdkad ds vuqlkj] o"kZ 2018 esa tkiku] 
fiQyhihal vkSj teZuh ekSle lacaèkh ?kVukvksa ls 
lcls vfèkd izHkkfor gksus okys ns'k gSaA

	 3.	 Hkkjr mu jk"Vªksa esa 'kkfey gS] tks o"kZ 2018 o 
2019 esa pje ghV oso dh leL;k ls izHkkfor 
jgsA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	85.	gky gh esa Xykscy ,yk;al vkWu gsYFk ,aM ikWY;w'ku us 

^ikWY;w'ku ,aM gsYFk ehfVªDl% Xykscy] jh”kuy ,aM daVªh 
,ukfyfll] 2019* fjiksVZ tkjh dhA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fjiksVZ ds vuqlkj] iznw"k.k ls o"kZ 2017 esa 8.3 
fefy;u yksxksa dh e`R;q gqbZA

	 2.	 dqy okf"kZd vlkef;d iznw"k.k lacaèkh ekSrksa esa 
Hkkjr ,oa ;w-,l-,- Øe'k% 28 yk[k ,oa 18 yk[k 
ekSrksa ds lkFk izFke o f}rh; LFkku ij gSaA

	 3.	 izfr yk[k tula[;k ij iznw"k.k ds dkj.k gksus 
okyh ekSrksa esa pkM ,oa eè; vÚhdh x.kjkT; 
Øe'k% izFke o nwljs LFkku ij gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	86.	^dsanzh; ty vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 dsanzh; ty vk;ksx ty 'kfDr ea=kky; ds lac¼ 

dk;kZy; ds :i esa dk;Zjr~ gSA 

	 2.	 bldh LFkkiuk MkW- ch-vkj- vacsMdj dh lykg 
ij o"kZ 1945 esa dh xbZ FkhA 

	 3.	 vk;ksx dks ck<+ fu;a=k.k] flapkbZ] ukSogu] is;ty 
vkiwfrZ vkSj ty fo|qr fodkl dk nkf;Ro lkSaik 
x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 84.	 Consider the following statements in the context 

of 'Global Climate Risk Index, 2020':
	 1.	 The 15th Global Climate Risk Index, 2020 

was released in December 2019 by the 
environmental think tank 'Germanwatch'.

	 2.	 According to the index Japan, Philippines 
and Germany are the most affected countries 
by weather related events in the year 2018.

	 3.	 India is among those nations which were 
affected by the extreme heat wave problem 
in the year 2018 and 2019.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 85.	 Recently the Global Alliance on Health and 

Pollution released the report 'Pollution and Health 
Metrics: Global, Regional and Country Analysis, 
2019'. Consider the following statements in this 
context:

	 1.	 According to the report, 8.3 million people 
died in the year 2017 from pollution.

	 2.	 India and USA ranked first and second in 
total annual untimely pollution related 
deaths with 28 lakh and 18 lakh deaths 
respectively.

	 3.	 Chad and Central African Republic rank 
first and second respectively in deaths due 
to pollution in per lakh population.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 2 and 3 only
	 86.	 Consider the following statements in the context 

of 'Central Water Commission':
	 1.	 The Central Water Commission is 

functioning as an attached office of the 
Ministry of Hydro Power.

	 2.	 It was established in the year 1945 on the 
recommendation of Dr. B.R. Ambedkar.

	 3.	 The commission has been entrusted 
with the responsibility of flood control, 
irrigation, shipping, drinking water supply 
and hydropower development.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	87.	^dsby ?kks"k.kki=k* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 3 ls 7 flracj] 2018 ds nkSjku dsby] teZuh esa 
varjkZ"Vªh; lEesyu dk vk;kstu fd;k x;k Fkk] 
tks egklkxjksa esa fujarj gks jgh vkWDlhtu dh 
deh ij dsafnzr FkkA 

	 2.	 bl lEesyu dh Fkhe Fkh& ¶vkWDlhtu 
MhvkWDlhtsus'ku% MªkbolZ ,aM dalhDosulst&ikLV& 
izstsaV&Ý;wpj¸

	 3.	 bl lEesyu esa ¶dsby ?kks"k.kk i=k¸ dks viuk;k 
x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1
	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	88.	^varjkZ"Vªh; izÑfr laj{k.k la?k* (vkbZ-;w-lh-,u) ds lanHkZ 

esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 ;g o"kZ 1948 esa LFkkfir ,d lnL;rk la?k gS] 

ftlesa ljdkj ,oa flfoy lkslk;Vh laxBu] nksuksa 
'kkfey gSaA 

	 2.	 bldk eq[;ky; isfjl esa vofLFkr gSA

	 3.	 orZeku esa ;g 1300 ls vfèkd lnL;ksa ds lkFk 
fo'o dk lcls cM+k vkSj lokZfèkd fofoèkrkiw.kZ 
i;kZoj.kh; usVodZ gSA 

	 	dwV%

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	89.	^dksy csM ehFksu* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 dksy csM ehFksu izkÑfrd xSl dk ,d vijaijkxr 

lzksr gS] tks dks;yk fuekZ.k izfØ;k ds mi&mRikn 
ds :i esa dks;yk HkaMkjksa ls lac¼ gSA

	 2.	 gky gh esa dsanz ljdkj us dksy bafM;k fyfeVsM 
dks vkxkeh nks ls rhu o"kks± ds fy;s dks;yk 
[knkuksa ls 20 yk[k ?kuehVj izfrfnu dksy csM 
ehFksu ds mRiknu dk funsZ'k fn;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	90.	^es?kky; o"kkZ ou* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 iwoksZÙkj ioZrh; fo'ofo|ky; ds ,d vè;;u 

ds vuqlkj] es?kky; ds o"kkZ ouksa dh lajpuk vkSj 
fofoèkrk Hkweè;js[kk ds fudV ik, tkus okys o"kkZ 
ouksa ds leku gSA 

	 87.	 With reference to the 'Kiel Manifesto' Consider 
the following statements:

	 1.	 An international conference was held in 
Kiel, Germany during September 3–7, 
2018, which focused on the continuous 
oxygen depletion in the oceans.

	 2.	 The theme of this conference was "Oxygen 
Deoxygenation: Drivers and Consequences-
Past-Present-Future".

	 3.	 The "Keil Manifesto" was adopted in this 
conference.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 88.	 Which of the following statements is/are correct 
in the context of 'International Union for 
Conservation of Nature (IUCN)'?

	 1.	 It is a membership association established 
in the year 1948, which includes both 
government and civil society organizations.

	 2.	 It's headquarter is located in Paris.
	 3.	 It is currently the world's largest and most 

diversified environmental network with 
over 1300 members.

		  Code:
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 89.	 Consider the following statements in the context 
of  'Coal Bed Methane':

	 1.	 Coal Bed Methane is an unconventional 
source of natural gas, associated with 
coal deposits as a by-product of the coal 
manufacturing process.

	 2.	 Recently, the Central Government has 
directed the Coal India Limited to produce 
20 lakh cubic meters of coal bed methane 
from coal mines for the next two to three 
years.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 90.	 Consider the following statements in the context 
of 'Meghalaya rain forest':

	 1.	 According to a study by the Northeast 
Mountain University, the composition and 
diversity of the rain forests of Meghalaya 
are similar to those found near the equator.
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	 2.	 es?kky; ds o"kkZ ouksa esa o`{k ?kuRo 467 o`{k izfr 
gsDVs;j gS] tks fd Hkweè;js[kh; o"kkZ ouksa dh 
rqyuk esa de gSA 

	 3.	 es?kky; ds o"kkZouksa dks fo'o ds m".kdfVcaèkh; 
o"kkZouksa ds ekufp=k esa 'kkfey ugha fd;k x;k 
gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 2
	91.	laln us gky gh esa ^VªkaltsaMj O;fDr (vfèkdkjksa dk 

laj{k.k) foèks;d] 2019* ikfjr fd;k gSA bl foèks;d 
ds izkoèkkuksa esa 'kkfey gS@gSa&

	 1.	 VªkaltsaMj O;fDr dks ifjHkkf"kr djukA

	 2.	 ;g micaèk djuk fd VªkaltsaMj O;fDr dks fu;kstu] 
HkrhZ] izksUufr vkSj vU; lacafèkr eqn~nksa ds fo"k; 
esa foHksn dk lkeuk u djuk iM+sA

	 3.	 foèks;d ds micaèkksa dk mYya?ku djus ds lacaèk 
esa naM dk izkoèkku lqfuf'pr djukA

	 4.	 foèks;d esa VªkaltsaMj O;fDr;ksa ds lkekftd] 
vkfFkZd vkSj 'kSf{kd l'kDrhdj.k ds fy;s ,d 
dk;Ziz.kkyh miyCèk djkukA 

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1, 3 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	92.	^lksok&fjXik jk"Vªh; laLFkku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 dsanzh; dSfcusV us ysg esa us'kuy baLVhV~;wV iQkWj 

lksok&fjXik dh LFkkiuk dks ea”kwjh iznku dj nh 
gSA 

	 2.	 ;g vk;q"k ea=kky; ds rgr ,d Lok;Ùk'kklh 
laLFkku gksxkA

	 3.	 lksok&fjXik Hkkjr esa fgeky;h {ks=k dh ,d 
ikjaifjd fpfdRlk iz.kkyh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	93.	^ijèkku tutkfr* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ijèkku tutkfr laFkky tutkfr dk ,d milewg 

gS vkSj ;s yksx nf{k.k Hkkjr esa ik, tkrs gSaA 

	 2.	 bl tutkfr dh tula[;k dk vfèkdka'k fgLlk 
egkjk"Vª vkSj eè; izns'k esa fuokl djrk gSA 

	 3.	 ijèkku Hkk"kk bl tutkfr dh izkFkfed Hkk"kk gS]
ysfdu dqN lewg fgUnh] ejkBh vkSj xksaMh Hkk"kk 
Hkh cksyrs gSaA 

	 2.	 Tree density in the rain forests of Meghalaya 
is 467 trees per hectare, which is lower than 
the equatorial rain forests.

	 3.	 The rainforests of Meghalaya are not 
included in the map of tropical rainforests 
of the world.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 only

	 91.	 The Parliament has recently passed the 'Transgender 
Persons (Protection of Rights) Bill, 2019'. The 
provisions of this bill includes-

	 1.	 Defining a transgender person.
	 2.	 To provide that the transgender person 

should not face discrimination in relation to 
planning, recruitment, promotion and other 
related issues.

	 3.	 To ensure the provision of punishment/
penalties in respect of violation of the 
provisions of the bill.

	 4.	 To provide a framework for social, 
economic and educational empowerment of 
transgender persons in the bill.

		  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 92.	 Consider the following statements in the context 
of 'Sowa-Rigpa National Institute':

	 1.	 The Union Cabinet has approved the 
establishment of the National Institute for 
Sowa-Rigpa in Leh.

	 2.	 It will be an autonomous institution under 
the Ministry of AYUSH.

	 3.	 Sowa-Rigpa is a traditional medicinal 
system of the Himalayan region in India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 93.	 Consider the following statements in the context 
of 'Pardhan tribe':

	 1.	 Pardhan tribe is a subgroup of Santhal tribe 
and these people are found in South India.

	 2.	 Majority of the population of this tribe lives 
in Maharashtra and Madhya Pradesh.

	 3.	 Pardhan language is the primary language 
of this tribe, but some groups also speak 
Hindi, Marathi and Gondi languages.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	94.	^iqufoZpkj ;kfpdk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 vuq- 137 ds rgr loksZPp U;k;ky; dks vius 

fdlh Hkh fu.kZ; ;k vkns'k ij iqufoZpkj djus 
dh 'kfDr izkIr gSA

	 2.	 dksbZ Hkh O;fDr] tks iSQlys ls vlarq"V gS] iqufoZpkj 
;kfpdk nk;j dj ldrk gS] Hkys gh og mDr 
ekeys esa i{kdkj gks vFkok u gksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	95.	^fe”kksje esa ou vfèkdkj dkuwu* ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 19 uoacj] 2019 dks fe”kksje ljdkj us vuqlwfpr 

tutkfr vkSj vU; ikjaifjd ou fuoklh (ou 
vfèkdkj) vfèkfu;e] 2006 ds dk;kZUo;u dks 
jn~n djus dk izLrko ikfjr fd;k gSA 

	 2.	 fe”kksje esa laln }kjk ikfjr Hkwfe LokfeRo vkSj 
LFkkukarj.k ls lacafèkr lHkh dkuwuksa dks ykxw djus 
ls igys bUgsa jkT; dh foèkkulHkk }kjk ,d izLrko 
ds ekè;e ls ikfjr fd;k tkuk vfuok;Z gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	96.	fo'o O;kikj laxBu ds vihyh; izkfèkdj.k ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 MCY;w-Vh-vks- esa fdlh Hkh vihy dh lquokbZ ds 

fy;s de&ls&de 3 lnL;ksa dk gksuk vfuok;Z 
gSA

	 2.	 orZeku esa MCY;w-Vh-vks- ds vihyh; izkfèkdj.k 
esa ek=k ,d gh lnL; gSA

	 3.	 bl vihyh; izkfèkdj.k dh LFkkiuk o"kZ 1995 
esa dh xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	97.	^{ks=kh; O;kid vkfFkZd Hkkxhnkjh (vkj-lh-bZ-ih-)* ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr us vkj-lh-bZ-ih- esa 'kkfey ugha gksus dk 

fu.kZ; fy;k gSA 

	 2.	 vkj-lh-bZ-ih- ,d eqDr O;kikj le>kSrk gSA

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 94.	 With reference to the 'Review Petition' Consider 
the following statements:

	 1.	 The Supreme Court has been empowered 
to reconsider any of its decisions or orders 
under Article-137.

	 2.	 Any person, who is dissatisfied with the 
decision, can file a review petition, whether 
or not he is a party to the concerned case.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 95.	 With reference to the 'Forest Rights Law in 
Mizoram 'Consider the following statements:

	 1.	 On November 19, 2019, the Mizoram 
government passed a resolution cancelling 
the implementation of the Scheduled Tribes 
and Other Traditional Forest Dwellers 
(Forest Rights) Act, 2006.

	 2.	 In Mizoram it is mandatory to pass all 
the laws related to land ownership and 
transfer passed by the Parliament through 
a resolution by the Legislative Assembly of 
the state.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 96.	 Consider the following statements in the context 
of Appellate Authority of the World Trade 
Organization:

	 1.	 It is mandatory for the WTO to have atleast 
3 members to hear any appeal.

	 2.	 At present, the Appellate Authority of the 
WTO has only one member.

	 3.	 This Appellate Authority was established in 
the year 1995.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 97.	 Consider the following statements in the context 
of  'Regional Comprehensive Economic Partnership 
(RCEP)':

	 1.	 India has decided not to join the RCEP.
	 2.	 RCEP is a free trade agreement.
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	 3.	 bl le>kSrs esa okrkZdkj ds :i esa 16 jk"Vª 
'kkfey Fks] ftuesa 10 vkfl;ku ns'k Hkh 'kkfey 

FksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3 	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3

	98.	gky esa pfpZr ^ikfidksaMk jk"Vªh; m|ku* foLr`r gS&

	 (a)	 vkaèkz izns'k vkSj rsyaxkuk

	 (b)	 fcgkj vkSj >kj[kaM

	 (c)	 eè; izns'k vkSj NÙkhlx<+

	 (d)	 tEew&d'ehj vkSj yn~nk[k

	99.	^Vsd VsDlVkby bafM;k* ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 20-22 uoacj] 2019 rd eqacbZ esa VsdVsDlVkby 

bafM;k ds lkrosa laLdj.k dk vk;kstu fd;k x;kA

	 2.	 ljdkj us rduhdh oL=kksa ij u, cslykbu losZ{k.k 

gsrq vkbZvkbZVh fnYyh dks pquk gSA

	 3.	 Hkkjrh; ekud C;wjks us rduhdh oL=kksa ds 348 
mRiknksa ds fy;s ekud fuèkkZfjr fd;s gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 

	 (d)	 dsoy 3

	100.	^Hkwdai vkink tksf[ke lwpdkad fjiksVZ* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkwdai vkink tksf[ke lwpdkad fjiksVZ dk izdk'ku 

jk"Vªh; vkink izcaèku izkfèkdj.k }kjk vkbZvkbZvkbZVh] 

gSnjkckn ds lg;ksx ls fd;k x;k gSA 

	 2.	 ns'k dk 56% HkkSxksfyd {ks=k eè;e ls cM+s Hkwdaiksa 

ds izfr lqHks| gS] tgk¡ yxHkx 82% tula[;k 

fuokl djrh gSA

	 3.	 fjiksVZ ds vuqlkj] dsoy 7 'kgjksa esa fuEu Lrj 
dk tksf[ke gS] tcfd 30 'kgjksa esa eè;e Lrj 
rFkk 13 'kgjksa esa mPp Lrj dk tksf[ke ik;k 

x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3

	 3.	 The agreement included 16 nations as 
negotiators, including 10 ASEAN countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 98.	 The 'Papikonda National Park' which was recently 
in news, is extended in-

	 (a)	 Andhra Pradesh and Telangana
	 (b)	 Bihar and Jharkhand
	 (c)	 Madhya Pradesh and Chhattisgarh
	 (d)	 Jammu-Kashmir and Ladakh

	 99.	 Consider the following statements in the context 
of  'Tech Textile India':

	 1.	 The seventh edition of Tech Textile India 
was held in Mumbai on November 20-22, 
2019.

	 2.	 Government has selected IIT Delhi for a 
new baseline survey on technical textiles.

	 3.	 The Bureau of Indian Standards has set 
standards for 348 products of technical 
textiles.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3 
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 3 only

	100.	 Consider the following statements in the context 
of 'Earthquake Disaster Risk Index Report':

	 1.	 The Earthquake Disaster Risk Index Report 
has been published by National Disaster 
Management Authority in collaboration 
with IIIT, Hyderabad.

	 2.	 56% of the country's geographical area is 
vulnerable to moderate to large intensity 
of earthquakes, where about 82% of the 
population lives.

	 3.	 According to the report, only 7 cities have 
low level of risk, while 30 cities have 
moderate level and 13 cities have high level 
of risk.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only	 (d)	 3 only


